BID TAB

BID: 2013-045-6336 DATE: June 20, 2013

PROJECT MANAGER: Komala Narra, P.E.

			RoeschCo	2CM	D Inc.	Northstar C	Construction	CPS Civil	Urban C	onstruction	The Fai	n Group	Cole Con	struction	Austin Filte	er Systems	Omega Contracting
ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE EXTENSIO		EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE EXTENSION
BASE BID 100 PREPARATION OF ROW	STA	49	\$300.00 \$14.700.00	\$595.00	\$29,155.00	\$800.00	\$39.200.00	\$1.500.00 \$73.500.0	0 9800 00	\$39,200.00	\$1.000.00	\$49.000.00	\$430.00	\$21,070.00	\$450.00	\$22,050.00	\$400.00 \$19.600.00
104 REMOVING CONCRETE	SY	416	\$7.00 \$2,912.00	\$8.93	. ,	\$11.00	\$4,576.00	\$10.00 \$4,160.0		. ,	\$12.00	\$4,992.00	\$10.00	\$4,160.00	\$4.00	\$1,664.00	\$9.00 \$3,744.00
105 REMOVING STABILIZED BASE AND ASPHALT PAVEMENT 110 EXCAVATION (UNCLASSIFIED)	SY CY	74	\$10.00 \$740.00 \$10.00 \$13,030.00	\$10.12 \$29.75	\$748.88 \$38,764.25	\$11.00 \$20.00	\$814.00 \$26,060.00	\$10.00 \$740.0 \$15.00 \$19,545.0			\$12.00 \$7.00	\$888.00 \$9,121.00	\$10.00 \$21.00	\$740.00 \$27,363.00	\$6.50 \$35.00	\$481.00 \$45,605.00	\$8.50 \$629.00 \$15.50 \$20,196.50
132 EMBANKMENT	CY	1,581	\$16.00 \$25,296.00	\$29.75	. ,	\$20.00		\$16.00 \$25,296.0			\$11.00	\$17,391.00	\$12.00	\$18,972.00	\$22.00	\$34,782.00	
162 BLOCK SODDING	SY	3,300	\$7.00 \$23,100.00	\$3.57	. ,	\$3.50	. ,	\$6.00 \$19,800.0		. ,	\$4.00	\$13,200.00	\$5.00	\$16,500.00	\$6.00	\$19,800.00	\$4.25 \$14,025.00
360 CONCRETE PAVEMENT (CL P)(8"THK) 416 DRILLED SHAFT (24 IN)	SY LF	25 160	\$50.00 \$1,250.00 \$65.00 \$10,400.00	\$59.00 \$59.50		\$60.00 \$87.00	\$1,500.00 \$13,920.00	\$70.00 \$1,750.0 \$140.00 \$22,400.0			\$60.00 \$76.00	\$1,500.00 \$12,160.00	\$100.00 \$110.00	\$2,500.00 \$17.600.00	\$85.00 \$106.00	\$2,125.00 \$16,960.00	\$55.00 \$1,375.00 \$80.00 \$12,800.00
420 CONCRETE CLASS C (ABUTMENT)	CY	10	\$575.00 \$5,750.00	\$499.80	\$4,998.00	\$630.00	\$6,300.00	\$500.00 \$5,000.0	0 \$800.00	\$8,000.00	\$678.00	\$6,780.00	\$1,400.00	\$14,000.00	\$670.00	\$6,700.00	\$575.00 \$5,750.00
420 REINFORCED CONCRETE LANDING SLAB W/THICKENED EDGE 423 CONCRETE RETAINING WALL (CAST-IN-PLACE)	CY SY	32 132	\$575.00 \$18,400.00 \$250.00 \$33,000.00	\$380.80 \$77.35		\$500.00 \$380.00	\$16,000.00 \$50,160.00	\$350.00 \$11,200.0 \$250.00 \$33,000.0		. ,	\$1,000.00 \$560.00	\$32,000.00 \$73,920.00	\$380.00 \$320.00	\$12,160.00 \$42,240.00	\$600.00 \$560.00	\$19,200.00 \$73,920.00	\$375.00 \$12,000.00 \$225.00 \$29,700.00
432 RIPRAP (COMMON STONE)(18")(GROUT)	CY	24	\$300.00 \$7,200.00	\$142.80	\$3,427.20	\$190.00	\$4,560.00	\$50.00 \$1,200.0	0 \$74.00	\$1,776.00	\$140.00	\$3,360.00	\$110.00	\$2,640.00	\$160.00	\$3,840.00	\$250.00 \$6,000.00
442 METAL FOR STRUCTURES 450 RAILING (42" HT)	LB LF	378 260	\$3.00 \$1,134.00 \$55.00 \$14,300.00	\$6.30 \$114.14		\$7.00 \$70.00	\$2,646.00 \$18,200.00	\$25.00 \$9,450.0 \$95.00 \$24,700.0		+ -)	\$11.00 \$105.00	\$4,158.00 \$27,300.00	\$10.00 \$96.00	\$3,780.00 \$24,960.00	\$4.00 \$120.00	\$1,512.00 \$31,200.00	\$10.75 \$4,063.50 \$85.00 \$22,100.00
450 RAILING (42 HT) 462 BOX CULVERT (6'X3')	LF	30	\$350.00 \$14,300.00	\$363.19	. ,	\$350.00	\$10,500.00	\$500.00 \$15,000.0		. ,	\$105.00	\$16,950.00	\$466.00	\$24,960.00	\$600.00	\$18,000.00	\$300.00 \$9,000.00
464 REINFORCED CONCRETE PIPE (24" PIPE)	LF	68	\$60.00 \$4,080.00	\$51.05	. ,	\$80.00	\$5,440.00	\$50.00 \$3,400.0		. ,	\$87.00	\$5,916.00	\$90.00	\$6,120.00	\$160.00	\$10,880.00	\$65.00 \$4,420.00
464 REINFORCED CONCRETE PIPE (12" PIPE) 466 HEADWALL (CH-PW-S)(FOR PIPE)	LF EA	50 2	\$50.00 \$2,500.00 \$1.500.00 \$3.000.00	\$26.30 \$5,712.00		\$50.00 \$2,500.00	\$2,500.00 \$5.000.00	\$40.00 \$2,000.0 \$950.00 \$1.900.0		. ,	\$54.00 \$4.300.00	\$2,700.00 \$8.600.00	\$42.00 \$2,100.00	\$2,100.00 \$4,200.00	\$117.00 \$5,500.00	\$5,850.00 \$11.000.00	\$50.00 \$2,500.00 \$2,000.00 \$4,000.00
466 HEADWALL (PW)(FOR BOX)	EA	2	\$6,800.00 \$13,600.00	\$11,900.00	\$23,800.00	\$2,500.00	\$5,000.00	\$5,000.00 \$10,000.0	0 \$5,000.00	\$10,000.00	\$4,900.00	\$9,800.00	\$7,400.00	\$14,800.00	\$4,500.00	\$9,000.00	no bid
479 ADJUSTING MANHOLES AND INLETS 500 MOBILIZATION	EA LS	2	\$250.00 \$500.00 \$160,000.00 \$160,000.00	\$595.00 \$51,816.17	\$1,190.00 \$51,816.17	\$300.00 \$60,000.00	\$600.00 \$60,000.00	\$600.00 \$1,200.0 \$45,000.00 \$45,000.0			\$350.00 \$65,000.00	\$700.00 \$65,000.00	\$1,600.00 \$50,000.00	\$3,200.00 \$50,000.00	\$1,800.00 \$50,000.00	\$3,600.00 \$50.000.00	no bid no bid
502 BARRICADES, SIGNS AND TRAFFIC HANDLING	MO	10	\$500.00 \$5,000.00	. ,	. ,	\$1,000.00	\$10,000.00	\$1,200.00 \$12,000.0	. ,	. ,	\$1,200.00	\$12,000.00	\$1,200.00	\$12,000.00	\$1,700.00	\$17,000.00	no bid
504 FIELD OFFICE	MO	12	\$900.00 \$10,800.00	\$595.00	. ,	\$1,100.00	\$13,200.00	\$2,000.00 \$24,000.0	+ /		\$900.00	\$10,800.00	\$1,580.00	\$18,960.00	\$1,000.00	\$12,000.00	no bid
506 ROCK FILTER DAM (INSTALL)(TY 3) 506 ROCK FILTER DAM (REMOVE)(TY 3)	LF LF	<u>157</u> 157	\$24.00 \$3,768.00 \$8.00 \$1,256.00	\$28.56 \$8.33		\$30.00 \$8.00	\$4,710.00 \$1,256.00	\$45.00 \$7,065.0 \$10.00 \$1,570.0			\$32.00 \$21.00	\$5,024.00 \$3,297.00	\$40.00 \$20.00	\$6,280.00 \$3,140.00	\$35.00 \$8.00	\$5,495.00 \$1,256.00	no bid no bid
506 CONSTRUCTION EXITS (INSTALL)(TY 1)	SY	217	\$10.00 \$2,170.00	\$10.71	\$2,324.07	\$12.00	\$2,604.00	\$25.00 \$5,425.0	0 \$15.00	\$3,255.00	\$15.00	\$3,255.00	\$9.00	\$1,953.00	\$19.00	\$4,123.00	no bid
506 CONSTRUCTION EXITS (REMOVE)(TY 1) 506 TEMPORARY SEDIMENT CONTROL FENCE (INSTALL)	SY LF	217 6.000	\$8.00 \$1,736.00 \$1.10 \$6,600.00	\$7.14 \$1.43		\$7.00 \$1.50		\$5.00 \$1,085.0 \$2.00 \$12,000.0			\$14.00 \$1.00	\$3,038.00 \$6.000.00	\$3.00 \$2.00	\$651.00 \$12.000.00	\$6.00 \$2.00	\$1,302.00 \$12.000.00	no bid \$1.50 \$9,000.00
506 TEMPORARY SEDIMENT CONTROL FENCE (REMOVE)	LF	6,000	\$0.25 \$1,500.00	\$0.36	+ - /	\$0.40	\$2,400.00	\$0.50 \$3,000.0		. ,	\$0.50	\$3,000.00	\$0.25	\$1,500.00	\$1.00	\$6,000.00	
506 INLET PROTECTION (INSTALL) 506 INLET PROTECTION (REMOVE)	EA EA	2	\$60.00 \$120.00 \$25.00 \$50.00	\$119.00 \$29.75	\$238.00 \$59.50	\$125.00 \$30.00	\$250.00 \$60.00	\$70.00 \$140.0 \$25.00 \$50.0			\$300.00 \$140.00	\$600.00 \$280.00	\$90.00 \$10.00	\$180.00 \$20.00	\$145.00 \$72.00	\$290.00 \$144.00	\$250.00 \$500.00 \$25.00 \$50.00
506 BIODEGRADABLE LOG	EA	1	\$100.00 \$100.00	\$71.40	\$71.40	\$100.00	\$00.00	\$30.00 \$30.0			\$140.00	\$280.00	\$80.00	\$20.00	\$500.00	\$500.00	
506 PERMANENT EROSIONCONTROL MAT (CURLEX)	SF	200	\$1.00 \$200.00	\$2.38	\$476.00	\$2.50	\$500.00	\$1.00 \$200.0			\$0.30	\$60.00	\$1.00	\$200.00	\$2.50	\$500.00	\$0.50 \$100.00
528 BRICK PAVERS 529 CONCRETE CURB (6")	SY LF	292 45	\$70.00 \$20,440.00 \$18.00 \$810.00	\$44.03 \$11.90	\$12,856.76 \$535.50	\$26.00 \$4.00	\$7,592.00 \$180.00	\$70.00 \$20,440.0 \$30.00 \$1,350.0			\$100.00 \$5.00	\$29,200.00 \$225.00	\$98.00 \$8.00	\$28,616.00 \$360.00	\$20.00 \$29.00	\$5,840.00 \$1,305.00	\$65.00 \$18,980.00 \$4.00 \$180.00
529 CONCRETE CURB (9")	LF	36	\$20.00 \$720.00	\$17.85	\$642.60	\$6.00	\$216.00	\$40.00 \$1,440.0	0 \$20.00	\$720.00	\$8.00	\$288.00	\$9.00	\$324.00	\$36.00	\$1,296.00	\$5.00 \$180.00
531 CONCRETE SIDEWALK (CLASS C)(6")(10'-12' WIDE) 531 CONCRETE SIDEWALK (CLASS C)(4")(5'-7' WIDE)	SY SY	6,600 775	\$36.00 \$237,600.00 \$32.00 \$24,800.00	\$33.32 \$34.51	\$219,912.00 \$26,745.25	\$43.25 \$34.00	\$285,450.00 \$26,350.00	\$40.00 \$264,000.0 \$38.00 \$29,450.0			\$42.00 \$34.00	\$277,200.00 \$26,350.00	\$44.00 \$46.00	\$290,400.00 \$35,650.00	\$46.50 \$34.00	\$306,900.00 \$26,350.00	\$63.00 \$415,800.00 \$63.00 \$48,825.00
531 CURB RAMPS	EA	1	\$750.00 \$750.00			\$1,600.00	\$20,330.00	\$1,500.00 \$1,500.0		. ,	\$980.00	\$980.00	\$1,400.00	\$1,400.00	\$2,800.00	\$2,800.00	,
540 METAL BEAM GUARD FENCE (MBGF)(TIM POST)	LF	150	\$23.00 \$3,450.00	\$99.96		\$35.00	\$5,250.00	\$30.00 \$4,500.0			\$25.00	\$3,750.00	\$23.00	\$3,450.00	\$33.00	\$4,950.00	\$90.00 \$13,500.00
540 TERMINAL END SECTION (SHORT)EE 644 SMALL ROAD SIDE SIGN SUPPORTS AND ASSEMBLIES	EA EA	4 69	\$500.00 \$2,000.00 \$325.00 \$22,425.00	\$2,975.00 \$416.00	. ,	\$2,800.00 \$400.00	\$11,200.00 \$27.600.00	\$1,800.00 \$7,200.0 \$300.00 \$20,700.0		. ,	\$1,000.00 \$590.00	\$4,000.00 \$40.710.00	\$970.00 \$420.00	\$3,880.00 \$28.980.00	\$1,100.00 \$570.00	\$4,400.00 \$39.330.00	\$2,800.00 \$11,200.00 \$400.00 \$27,600.00
658 OBJECT MARKERS (OM-3)	EA	2	\$200.00 \$400.00	\$178.50	\$357.00	\$300.00	\$600.00	\$450.00 \$900.0	0 \$50.00	\$100.00	\$590.00	\$1,180.00	\$60.00	\$120.00	\$110.00	\$220.00	\$95.00 \$190.00
666 REF PAV MARKING TY I (Y)(4")(BROKEN) 678 PAVEMENT SURFACE PREPARATION FOR MARKING TY I (Y)(4")(BROKEN)	LF	5,000 5,000	\$0.85 \$4,250.00 \$0.25 \$1,250.00	\$1.25 \$0.36		\$1.00 \$0.20	\$5,000.00 \$1,000.00	\$1.25 \$6,250.0 \$0.25 \$1,250.0			\$1.00 \$0.15	\$5,000.00 \$750.00	\$0.60 \$0.10	\$3,000.00 \$500.00	\$1.50 \$0.50	\$7,500.00 \$2,500.00	\$1.00 \$5,000.00 \$0.25 \$1,250.00
740 ANTI-GRAFFI COATING	SF	890	\$2.50 \$2,225.00	\$3.57	\$3,177.30	\$1.70	\$1,513.00	\$1.00 \$890.0		. ,	\$4.00	\$3,560.00	\$2.00	\$1,780.00	\$1.40	\$1,246.00	\$4.00 \$3,560.00
752 TREE AND BRUSH REMOVAL 4810 BRIDGE (CONTINENTAL KEY) OR EQUAL	EA EA	17	\$425.00 \$7,225.00 \$93,500.00 \$93,500.00	\$357.00	\$6,069.00 \$121.762.79	\$400.00	\$6,800.00	\$300.00 \$5,100.0 \$115,000.00 \$115,000.0			\$350.00	\$5,950.00 \$104.000.00	\$280.00 \$196,800.00	\$4,760.00 \$196,800.00	\$440.00	\$7,480.00	\$4.00 \$68.00 \$110,000.00 \$110,000.00
5500 BENCHES	EA	4	\$2,650.00 \$10,600.00		\$12,932.92			\$1,600.00 \$6,400.0		5 \$100,000.00 5 \$12,000.00		\$7,200.00		\$196,800.00			\$3,000.00 \$12,000.00
6001 REMOVABLE/LOCKABLE BOLLARDS	EA	3	\$500.00 \$1,500.00	\$342.13	\$1,026.39	\$350.00	\$1,050.00	\$1,000.00 \$3,000.0	0 \$800.00	\$2,400.00	\$1,200.00	\$3,600.00	\$1,000.00	\$3,000.00	\$1,100.00	\$3,300.00	\$1,300.00 \$3,900.00
6002 R-RAP (SACRETE WALL) 6003 IRRIGATION MODIFICATION	SY LS	<u>57</u> 1	\$285.00 \$16,245.00 \$5,000.00 \$5,000.00			\$350.00 \$2,000.00						\$28,500.00 \$11,000.00	\$118.00 \$3,000.00	\$6,726.00 \$3,000.00	\$100.00 \$7,200.00	\$5,700.00 \$7,200.00	
6004 RUBBERIZED SURFACE FOR JOGGING TRAIL	SF	6,975	\$3.30 \$23,017.50	\$3.93	\$27,411.75	\$4.00	\$27,900.00	\$4.00 \$27,900.0	0 \$4.00	\$27,900.00	\$4.00	\$27,900.00	\$4.00	\$27,900.00	\$4.70	\$32,782.50	\$5.00 \$34,875.00
6005 TREE TRUNK PROTECTION 6006 TREE TRANSPLANTATION	LF EA	<u>1,202</u> 9	\$1.10 \$1,322.20 \$1,000.00 \$9,000.00			\$1.50 \$400.00	\$1,803.00 \$3,600.00	\$6.00 \$7,212.0 \$730.00 \$6,570.0			\$1.00 \$350.00	\$1,202.00 \$3,150.00	\$2.00 \$1,100.00	\$2,404.00 \$9,900.00	\$2.20 \$1,800.00	\$2,644.40 \$16,200.00	
6618-001 3/4" RIGID ALUMINUM CONDUIT	LF	100	\$9.00 \$900.00	. ,	. ,	\$11.00	. ,			. ,		\$1,800.00	\$6.00	\$600.00	\$1,800.00	\$2,100.00	
6618-002 1" PVC SCHEDULE 40 CONDUIT	LF	150	\$6.00 \$900.00			\$8.50					\$19.00	\$2,850.00	\$3.00	\$450.00	\$5.00	\$750.00	
6618-003 1" PVC COATED RIGID ALUMINUM CONDUIT 6618-004 3/4" LIQUID-TIGHT ALUMINUM CONDUIT	LF LF	40 10	\$10.00 \$400.00 \$25.00 \$250.00			\$13.00 \$3.00	\$520.00 \$30.00				\$23.00 \$60.00	\$920.00 \$600.00	\$7.00 \$20.00	\$280.00 \$200.00	\$26.00 \$36.00	\$1,040.00 \$360.00	
6618-005 NEMA 3R ALUMINUM ENCLOSURE	EA	1	\$1,500.00 \$1,500.00	\$1,704.08	\$1,704.08	\$4,500.00	\$4,500.00	\$950.00 \$950.0	0 \$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$6,900.00	\$6,900.00	\$720.00	\$720.00	\$600.00 \$600.00
6620-001 #12 AWG INSULATED COPPER CONDUCTOR 6620-002 #8 AWG INSULATED COPPER CONDUCTOR	LF LF	725 15	\$0.40 \$290.00 \$7.00 \$105.00			\$0.80 \$2.00	\$580.00 \$30.00				\$0.50 \$10.00	\$362.50 \$150.00	\$0.80 \$0.70	\$580.00 \$10.50	\$1.50 \$3.00	\$1,087.50 \$45.00	
6620-002 #0 AWG INSULATED COPPER CONDUCTOR	LF	40	\$10.00 \$400.00			\$2.00 \$11.00		\$8.00 \$320.0	0 \$40.00			\$150.00	\$0.70	\$10.50	\$3.00	\$45.00	
6691-001 BEGA-US LED LIGHTING FIXTURE TYPE 7911 LED (OR APPROVED EQUAL) 6693-001 GROUNDING SYSTEM	EA	2	\$6,000.00 \$12,000.00 \$1,000.00 \$1,000.00	. ,		\$5,700.00	. ,					\$18,400.00 \$1,500.00	\$9,000.00 \$400.00	\$18,000.00 \$400.00	\$3,600.00	\$7,200.00 \$722.47	
	EA	1	\$1,000.00 \$1,000.00		· · ·	\$1,000.00	\$1,000.00				• • • •		· · ·	• •	\$722.47	\$722.47	+ ++ ++
SUBTOTAL BASE			\$904,966.70		\$920,520.53		\$958,417.00	\$973,223.0	0	\$978,926.00		\$1,027,727.50		\$1,048,443.50		\$1,062,847.87	\$940,887.00

BID: 2013-045-6336 PROJECT: BROOKHAVEN TRAIL MCIP PROJECT 17701 LIMITS: VALLEY VIEW LANE TO VITRUVIAN TRAIL

BID TAB

BID: 2013-045-6336 DATE: June 20, 2013

PROJECT MANAGER: Komala Narra, P.E.

				RoeschCo	2CMD	Inc.	Northstar C	Construction	CPS	Civil	Urban Construction	The Fain G	roup	Cole Con	struction	Austin Filte	r Systems	Omega Contra	acting
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE EXTENSION	UNIT PRICE	XTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE EXTENSION	UNIT PRICE EX	TENSION U	NIT PRICE	EXTENSION UNI	T PRICE	EXTENSION U	INIT PRICE EXT	ENSION
	BASE BID: DRY KILN																		
360	CONCRETE PAVEMENT (CL P) (8" THK)	SY	25	\$50.00 \$1,250.00	\$59.00	\$1,475.00	\$60.00	\$1,500.00	\$70.00	\$1,750.00	\$58.00 \$1,450.00	\$60.00	\$1,500.00	\$20.00	\$500.00	\$85.00	\$2,125.00		\$1,375.00
416 420	DRILLED SHAFT (24") CONCRETE CLASS C (ABUTMENT)	LF CY	160 10	\$65.00 \$10,400.00 \$575.00 \$5,750.00	\$59.50 \$499.80	\$9,520.00 \$4,998.00	\$87.00 \$630.00	\$13,920.00 \$6,300.00	\$140.00 \$500.00	\$22,400.00 \$5,000.00	\$90.00 \$14,400.00 \$800.00 \$8,000.00	\$76.00 \$678.00	\$12,160.00 \$6,780.00	\$40.00 \$120.00	\$6,400.00 \$1,200.00	\$106.00 \$670.00	\$16,960.00 \$6,700.00		12,800.00 \$5,750.00
420	REINFORCED CONCRETE LANDING SLAB W/THICKENED SLAB EDGE	CY	32	\$575.00 \$18,400.00	\$380.80	\$12,185.60	\$500.00	\$16,000.00	\$350.00	\$11,200.00	\$625.00 \$20,000.00		\$32,000.00	\$120.00	\$3,840.00	\$600.00	\$19,200.00		12,000.00
423	CONCRETE RETAINING WALL (CAST-IN-PLACE)	SY	132	\$250.00 \$33,000.00	\$77.35	\$10,210.20	\$380.00	\$50,160.00	\$250.00	\$33,000.00	\$75.00 \$9,900.00		\$73,920.00	\$10.00	\$1,320.00	\$560.00	\$73,920.00		29,700.00
462	BOX CULVERT (6'X3') REINFORCED CONCRETE PIPE (24" PIPE)	LF LF	<u>30</u> 68	\$350.00 \$10,500.00 \$60.00 \$4.080.00	\$363.19 \$51.05	\$10,895.70 \$3,471.40	\$350.00 \$80.00	\$10,500.00 \$5,440.00	\$500.00 \$50.00	\$15,000.00 \$3,400.00	\$450.00 \$13,500.00 \$75.00 \$5,100.00	\$565.00 \$87.00	\$16,950.00 \$5.916.00	\$100.00 \$10.00	\$3,000.00 \$680.00	\$600.00 \$160.00	\$18,000.00 \$10,880.00		\$9,000.00 \$4,420.00
464	REINFORCED CONCRETE PIPE (12" PIPE)	LF	50	\$50.00 \$2,500.00	\$26.30	\$1,315.00	\$50.00	\$2,500.00	\$40.00	\$2,000.00	\$60.00 \$3,000.00	\$54.00	\$2,700.00	\$6.00	\$300.00	\$117.00	\$5,850.00	\$50.00 \$	\$2,500.00
466	HEADWALL (CH-PW-S)(FOR PIPE)	EA	2	\$1,500.00 \$3,000.00	\$5,712.00	\$11,424.00	\$2,500.00	\$5,000.00	\$950.00	\$1,900.00	\$3,000.00 \$6,000.00	\$4,300.00	\$8,600.00	\$300.00		5,500.00	\$11,000.00	. , .	\$4,000.00
466 529	HEADWALL (PW)(FOR BOX) CONCRETE CURB (6")	EA LF	2 45	\$6,800.00 \$13,600.00 \$18.00 \$810.00	\$11,900.00 \$11.90	\$23,800.00 \$535.50	\$2,500.00 \$4.00	\$5,000.00 \$180.00	\$5,000.00 \$30.00	\$10,000.00 \$1,350.00	\$5,000.00 \$10,000.00 \$18.00 \$810.00	\$4,900.00 \$5.00	\$9,800.00 \$225.00	\$800.00 \$2.00	\$1,600.00 \$90.00	4,500.00 \$29.00	\$9,000.00 \$1,305.00		13,400.00 \$180.00
529	CONCRETE CURB (9")	LF	36	\$20.00 \$720.00	\$17.85	\$642.60	\$6.00	\$216.00	\$40.00	\$1,440.00	\$20.00 \$720.00	\$8.00	\$288.00	\$3.00	\$108.00	\$36.00	\$1,296.00	\$5.00	\$180.00
531 531	CONCRETE SIDEWALK (CLASS C)(6")(10'-12' WIDE) SIDEWALKS (5'-8' WIDE)(4")(CLASS C)	SY SY	6,600 775	\$36.00 \$237,600.00 \$32.00 \$24,800.00	\$33.32 \$34.51	\$219,912.00 \$26,745.25	\$43.25 \$34.00	\$285,450.00 \$26,350.00	\$40.00 \$38.00	\$264,000.00 \$29,450.00	\$47.00 \$310,200.00 \$40.00 \$31,000.00		\$277,200.00 \$26,350.00	\$20.00 \$16.00	\$132,000.00 \$12,400.00	\$46.50 \$34.00	\$306,900.00 \$26,350.00		15,800.00
531	CURB RAMPS	EA	1	\$750.00 \$750.00	\$34.51	\$26,745.25	\$34.00	\$26,350.00	\$38.00	\$29,450.00	\$850.00 \$850.00	\$980.00	\$26,350.00 \$980.00	\$16.00	. ,	\$34.00	\$26,350.00		48,825.00 \$1,400.00
4810	BRIDGE (CONTINENTAL KEY) OR EQUAL	EA	1	\$93,500.00 \$93,500.00		\$121,762.29		\$120,000.00		\$115,000.00	\$100,000.00 \$100,000.00		104,000.00	\$4,000.00		4,000.00	\$114,000.00		10,000.00
	SUBTOTAL: BASE BID DRY KILN			\$460,660.00		\$460,320.54		\$550,116.00		\$518,390.00	\$534,930.00	\$	579,369.00		\$168,338.00		\$626,286.00	\$67	71,330.00
	ALTERNATE NO 1 - UNSPECIFIED SOURCE																		
360	CONCRETE PAVEMENT (CL P) (8" THK)	SY	25	\$50.00 \$1,250.00	\$59.00 \$50.50	\$1,475.00	\$60.00		\$70.00	\$1,750.00	\$58.00 \$1,450.00	\$60.00	\$1,500.00	\$20.00	\$500.00	\$85.00	\$2,125.00	\$0.00	\$0.00
416 420	DRILLED SHAFT (24") CONCRETE CLASS C (ABUTMENT)	LF CY	<u>160</u> 10	\$65.00 \$10,400.00 \$575.00 \$5,750.00	\$59.50 \$499.80	\$9,520.00 \$4,998.00	\$87.00 \$630.00	\$13,920.00 \$6,300.00	\$140.00 \$500.00	\$22,400.00 \$5,000.00	\$90.00 \$14,400.00 \$800.00 \$8,000.00	\$76.00 \$678.00	\$12,160.00 \$6,780.00	\$40.00 \$120.00	\$6,400.00 \$1,200.00	\$106.00 \$670.00	\$16,960.00 \$6,700.00	\$0.00 \$0.00	\$0.00 \$0.00
420	REINFORCED CONCRETE LANDING SLAB W/THICKENED SLAB EDGE	CY	32	\$575.00 \$18,400.00	\$380.80	\$12,185.60	\$500.00	\$16,000.00	\$350.00	\$11,200.00	\$625.00 \$20,000.00	\$1,000.00	\$32,000.00	\$120.00	\$3,840.00	\$600.00	\$19,200.00	\$0.00	\$0.00
423		SY	132	\$250.00 \$33,000.00	\$77.35	\$10,210.20	\$380.00	\$50,160.00	\$250.00	\$33,000.00	\$75.00 \$9,900.00		\$73,920.00	\$10.00	\$1,320.00	\$560.00	\$73,920.00	\$0.00	\$0.00
462	BOX CULVERT (6'X3') REINFORCED CONCRETE PIPE (24" PIPE)	LF LF	<u> </u>	\$350.00 \$10,500.00 \$60.00 \$4,080.00	\$363.19 \$51.05	\$10,895.70 \$3,471.40	\$350.00 \$80.00	\$10,500.00 \$5,440.00	\$500.00 \$50.00	\$15,000.00 \$3,400.00	\$450.00 \$13,500.00 \$75.00 \$5,100.00	\$565.00 \$87.00	\$16,950.00 \$5,916.00	\$100.00 \$10.00	\$3,000.00 \$680.00	\$600.00 \$160.00	\$18,000.00 \$10,880.00	\$0.00 \$0.00	\$0.00 \$0.00
464	REINFORCED CONCRETE PIPE (12" PIPE)	LF	50	\$50.00 \$2,500.00	\$26.30	\$1,315.00	\$50.00	\$2,500.00	\$40.00	\$2,000.00	\$60.00 \$3,000.00	\$54.00	\$2,700.00	\$6.00		\$117.00	\$5,850.00	\$0.00	\$0.00
466	HEADWALL (CH-PW-S)(FOR PIPE)	EA	2	\$1,500.00 \$3,000.00	\$5,712.00	\$11,424.00	\$2,500.00	\$5,000.00	\$950.00	\$1,900.00	\$3,000.00 \$6,000.00	\$4,300.00	\$8,600.00	\$300.00		5,500.00	\$11,000.00	\$0.00	\$0.00
466 529	HEADWALL (PW)(FOR BOX) CONCRETE CURB (6")	EA LF	2 45	\$6,800.00 \$13,600.00 \$18.00 \$810.00	\$11,900.00 \$11.90	\$23,800.00 \$535.50	\$2,500.00 \$4.00	\$5,000.00 \$180.00	\$5,000.00 \$30.00	\$10,000.00 \$1,350.00	\$5,000.00 \$10,000.00 \$18.00 \$810.00	\$4,900.00 \$5.00	\$9,800.00 \$225.00	\$800.00 \$2.00	\$1,600.00 \$90.00	4,500.00 \$29.00	\$9,000.00 \$1,305.00	\$0.00 \$0.00	\$0.00 \$0.00
529	CONCRETE CURB (9")	LF	36	\$20.00 \$720.00	\$17.85	\$642.60	\$6.00	\$216.00	\$40.00	\$1,440.00	\$20.00 \$720.00	\$8.00	\$288.00	\$3.00	\$108.00	\$36.00	\$1,296.00	\$0.00	\$0.00
531	CONCRETE SIDEWALK (CLASS C)(6")(10'-12' WIDE)	SY	6,600	\$36.00 \$237,600.00		\$219,912.00	\$43.25 \$34.00	\$285,450.00	\$40.00	\$264,000.00	\$47.00 \$310,200.00		\$277,200.00	\$20.00	\$132,000.00	\$46.50	\$306,900.00	\$0.00	\$0.00 \$0.00
531 531	SIDEWALKS (5'-8' WIDE)(4")(CLASS C)	SY EA	<u>775</u> 1	\$32.00 \$24,800.00 \$750.00 \$750.00	\$34.51 \$1,428.00	\$26,745.25 \$1,428.00	\$34.00	\$26,350.00 \$1,600.00	\$38.00 \$1,500.00	\$29,450.00 \$1,500.00	\$40.00 \$31,000.00 \$850.00 \$850.00	\$34.00 \$980.00	\$26,350.00 \$980.00	\$16.00 \$300.00	\$12,400.00 \$300.00 \$	\$34.00 2,800.00	\$26,350.00 \$2,800.00	\$0.00 \$0.00	\$0.00
4810	BRIDGE (CONTINENTAL KEY) OR EQUAL	EA	1	\$93,500.00 \$93,500.00	. ,	\$121,762.29		\$120,000.00	. ,		\$100,000.00 \$100,000.00		104,000.00	\$4,000.00		4,000.00	\$114,000.00	\$0.00	\$0.00
	SUBTOTAL ALTERNATE NO 1 - UNSPECIFIED SOURCE			\$460,660.00		\$460,320.54		\$550,116.00		\$518,390.00	\$534,930.00	\$	579,369.00		\$168,338.00		\$626,286.00		\$0.00
	ALTERNATE NO. 2 - <1.7NOx																		
360	CONCRETE PAVEMENT (CL P) (8" THK)	SY	25	\$50.00 \$1,250.00	\$59.00	\$1,475.00	\$60.00	. ,	\$70.00	\$1,750.00	\$58.00 \$1,450.00	\$60.00	\$1,500.00	\$20.00	\$500.00	\$85.00	\$2,125.00	\$0.00	\$0.00
416	DRILLED SHAFT (24") CONCRETE CLASS C (ABUTMENT)	LF CY	<u>160</u> 10	\$65.00 \$10,400.00 \$575.00 \$5,750.00	\$59.50 \$499.80	\$9,520.00 \$4,998.00	\$87.00 \$630.00	\$13,920.00 \$6,300.00	\$140.00 \$500.00	\$22,400.00 \$5,000.00	\$90.00 \$14,400.00 \$800.00 \$8,000.00	\$76.00 \$678.00	\$12,160.00 \$6,780.00	\$40.00 \$120.00	\$6,400.00 \$1,200.00	\$106.00 \$670.00	\$16,960.00 \$6,700.00	\$0.00 \$0.00	\$0.00 \$0.00
420	REINFORCED CONCRETE LANDING SLAB W/THICKENED SLAB EDGE	CY	32	\$575.00 \$18,400.00	\$380.80	\$12,185.60	\$500.00	\$16,000.00	\$350.00	\$11,200.00	\$625.00 \$20,000.00		\$32,000.00	\$120.00	\$3,840.00	\$600.00	\$19,200.00	\$0.00	\$0.00
423	CONCRETE RETAINING WALL (CAST-IN-PLACE)	SY	132	\$250.00 \$33,000.00	\$77.35	\$10,210.20	\$380.00	\$50,160.00	\$250.00	\$33,000.00	\$75.00 \$9,900.00		\$73,920.00	\$10.00	\$1,320.00	\$560.00	\$73,920.00	\$0.00	\$0.00
462	BOX CULVERT (6'X3') REINFORCED CONCRETE PIPE (24" PIPE)	LF LF	<u> </u>	\$350.00 \$10,500.00 \$60.00 \$4,080.00	\$363.19 \$51.05	\$10,895.70 \$3,471.40	\$350.00 \$80.00	\$10,500.00 \$5,440.00	\$500.00 \$50.00	\$15,000.00 \$3,400.00	\$450.00 \$13,500.00 \$75.00 \$5,100.00	\$565.00 \$87.00	\$16,950.00 \$5,916.00	\$100.00 \$10.00	\$3,000.00 \$680.00	\$600.00 \$160.00	\$18,000.00 \$10,880.00	\$0.00 \$0.00	\$0.00 \$0.00
464	REINFORCED CONCRETE PIPE (12" PIPE)	LF	50	\$50.00 \$2,500.00	\$26.30	\$1,315.00	\$50.00	\$2,500.00	\$40.00	\$2,000.00	\$60.00 \$3,000.00	\$54.00	\$2,700.00	\$6.00	\$300.00	\$117.00	\$5,850.00	\$0.00	\$0.00
466	HEADWALL (CH-PW-S)(FOR PIPE)	EA	2	\$1,500.00 \$3,000.00 \$6,800.00 \$13,600.00	\$5,712.00 \$11.900.00	\$11,424.00 \$23,800,00	\$2,500.00	\$5,000.00 \$5,000.00	\$950.00 \$5.000.00	\$1,900.00 \$10,000.00	\$3,000.00 \$6,000.00 \$5,000.00 \$10,000.00	\$4,300.00	\$8,600.00	\$300.00		5,500.00	\$11,000.00	\$0.00	\$0.00 \$0.00
466 529	HEADWALL (PW)(FOR BOX) CONCRETE CURB (6")	EA LF	45	\$6,800.00 \$13,600.00 \$18.00 \$810.00	\$11,900.00	\$23,800.00 \$535.50	\$2,500.00 \$4.00	\$5,000.00 \$180.00	\$5,000.00 \$30.00	\$10,000.00 \$1,350.00	\$5,000.00 \$10,000.00 \$18.00 \$810.00	\$4,900.00 \$5.00	\$9,800.00 \$225.00	\$800.00 \$2.00	\$1,600.00 \$ \$90.00	4,500.00 \$29.00	\$9,000.00 \$1,305.00	\$0.00 \$0.00	\$0.00 \$0.00
529	CONCRETE CURB (9")	LF	36	\$20.00 \$720.00	\$17.85	\$642.60	\$6.00	\$216.00	\$40.00	\$1,440.00	\$20.00 \$720.00	\$8.00	\$288.00	\$3.00	\$108.00	\$36.00	\$1,296.00	\$0.00	\$0.00
531 531	CONCRETE SIDEWALK (CLASS C)(6")(10'-12' WIDE) SIDEWALKS (5'-8' WIDE)(4")(CLASS C)	SY SY	6,600 775	\$36.00 \$237,600.00 \$32.00 \$24,800.00		\$219,912.00 \$26,745.25	\$43.25 \$34.00	\$285,450.00 \$26,350.00	\$40.00 \$38.00	\$264,000.00 \$29,450.00	\$47.00 \$310,200.00 \$40.00 \$31,000.00		\$277,200.00 \$26.350.00	\$20.00 \$16.00	\$132,000.00 \$12,400.00	\$46.50 \$34.00	\$306,900.00 \$26,350.00	\$0.00 \$0.00	\$0.00 \$0.00
531	CURB RAMPS	EA	1	\$750.00 \$750.00		\$1,428.00	\$34.00		\$38.00	\$29,450.00	\$850.00 \$850.00	\$980.00	\$980.00	\$300.00		\$34.00	\$28,350.00	\$0.00	\$0.00
4810	BRIDGE (CONTINENTAL KEY) OR EQUAL	EA	1	\$93,500.00 \$93,500.00	\$121,762.29	\$121,762.29	\$120,000.00	\$120,000.00	\$115,000.00	\$115,000.00	\$100,000.00 \$100,000.00	\$104,000.00 \$	5104,000.00	\$4,000.00	\$4,000.00 \$11	4,000.00	\$114,000.00	\$0.00	\$0.00
	SUBTOTAL ALTERNATE NO 2 <1.7NOx			\$460,660.00	:	\$460,320.54		\$550,116.00		\$518,390.00	\$534,930.00	\$	579,369.00		\$168,338.00		\$626,286.00		\$0.00
7000	PARTNERING WORKSHOP	LS	1	\$100.00	\$5,355.00		\$1,000.00		\$3,000.00		\$1.00	\$700.00		\$550.00	\$	1,500.00		\$3,500.00	
	BASE BID (DRY KILN): (TRAIL + DRAINAGE + BRIDGE)			\$904,966.70		\$920,520.53		\$958,417.00		\$973,223.00	\$978,926.00		,027,727.50		\$1,048,443.50		\$1,062,847.87		40,887.00
	ITEM 7000 PARTNERING WORKSHOP TOTAL BID: BASE BID (DRY KILN) + PARTNERING WORKSHOP			\$100.00 \$905,066.70		\$5,355.00 \$925,875.53		\$1,000.00 \$959,417.00		\$3,000.00 \$976,223.00	\$1.00 \$978,927.00		\$700.00 028,427.50		\$550.00 \$1,048,993.50		\$1,500.00 \$1,064,347.87		\$3,500.00 44,387.00
				<i>\\</i> 000,000.10				2000,117.00			\$010,0 <u>2</u> 1.00	ψ1,	0,00		+ .,0 .0,000.00		÷ .,00 .,0 11.01	φυτ	
	CONCRETE ITEMS A. BASE BID CONCRETE ITEMS ONLY (DRY KILN)			\$460,660.00		\$460,320.54		\$550,116.00		\$518,390.00	\$534,930.00	¢	579,369.00		\$168,338.00		\$626,286.00	¢c7	71,330.00
	B. ALTERNATE BID NO. 1 (UNSPECIFIED SOURCE)			\$460,660.00 \$460,660.00		\$460,320.54 \$460,320.54		\$550,116.00 \$550,116.00		\$518,390.00 \$518,390.00	\$534,930.00 \$534,930.00		579,369.00 579,369.00		\$168,338.00		\$626,286.00 \$626,286.00	φ07	\$0.00 \$0.00
	C. ALTERNATE BID NO. 2 (<1.7 Nox)			\$460,660.00		\$460,320.54		\$550,116.00		\$518,390.00	\$534,930.00		579,369.00		\$168,338.00		\$626,286.00	*	\$0.00
	TOTAL BID: A + B + PARTNERING WORKSHOP TOTAL BID: A + C + PARTNERING WORKSHOP			\$905,066.70 \$905,066.70		\$925,875.53 \$925,875.53		\$959,417.00 \$959,417.00		\$976,223.00 \$976,223.00	\$978,927.00 \$978,927.00		,028,427.50 ,028,427.50		\$1,048,993.50 \$1,048,993.50		\$1,064,347.87 \$1,064,347.87		73,057.00 73,057.00
	TOTAL DID. A T C T FAR INERING WORKONDF			\$900,000.70		ψ920,070.03		ψ 3 53,417.00		ψ310,223.00	\$\$10, 3 21.00	Φ Ι,	,020,427.30		ψ1,0 4 0,333.30		ψ1,004,347.07	φ27	3,037.00

\$120.00	\$3,840.00	\$600.00	\$19,200.00	\$375.00	\$12,000.00
\$10.00	\$1,320.00	\$560.00	\$73,920.00	\$225.00	\$29,700.00
\$100.00	\$3,000.00	\$600.00	\$18,000.00	\$300.00	\$9,000.00
\$10.00	\$680.00	\$160.00	\$10,880.00	\$65.00	\$4,420.00
\$6.00	\$300.00	\$117.00	\$5,850.00	\$50.00	\$2,500.00
\$300.00	\$600.00	\$5,500.00	\$11,000.00	\$2,000.00	\$4,000.00
\$800.00	\$1,600.00	\$4,500.00	\$9,000.00	\$6,700.00	\$13,400.00
\$2.00	\$90.00	\$29.00	\$1,305.00	\$4.00	\$180.00
\$3.00	\$108.00	\$36.00	\$1,296.00	\$5.00	\$180.00
\$20.00	\$132,000.00	\$46.50	\$306,900.00	\$63.00	\$415,800.00
\$16.00	\$12,400.00	\$34.00	\$26,350.00	\$63.00	\$48,825.00
\$300.00	\$300.00	\$2,800.00	\$2,800.00	\$1,400.00	\$1,400.00
\$4,000.00	\$4,000.00	\$114,000.00	\$114,000.00	\$110,000.00	\$110,000.00
	\$168,338.00		\$626,286.00		\$671,330.00
\$20.00	\$500.00	\$85.00	\$2,125.00	\$0.00	\$0.00
\$40.00	\$6,400.00	\$106.00	\$16,960.00	\$0.00	\$0.00
\$120.00	\$1,200.00	\$670.00	\$6,700.00	\$0.00	\$0.00
\$120.00	\$3,840.00	\$600.00	\$19,200.00	\$0.00	\$0.00
\$10.00	\$1,320.00	\$560.00	\$73,920.00	\$0.00	\$0.00
\$100.00	\$3,000.00	\$600.00	\$18,000.00	\$0.00	\$0.00
\$10.00	\$680.00	\$160.00	\$10,880.00	\$0.00	\$0.00
\$6.00	\$300.00	\$117.00	\$5,850.00	\$0.00	\$0.00
\$300.00	\$600.00	\$5,500.00	\$11,000.00	\$0.00	\$0.00
\$800.00	\$1,600.00	\$4,500.00	\$9,000.00	\$0.00	\$0.00
\$2.00	\$90.00	\$29.00	\$1,305.00	\$0.00	\$0.00
\$3.00	\$108.00	\$36.00	\$1,296.00	\$0.00	\$0.00
\$20.00	\$132,000.00	\$46.50	\$306,900.00	\$0.00	\$0.00
\$16.00	\$12,400.00	\$34.00	\$26,350.00	\$0.00	\$0.00
\$300.00	\$300.00	\$2,800.00	\$2,800.00	\$0.00	\$0.00
\$4,000.00	\$4,000.00	\$114,000.00	\$114,000.00	\$0.00	\$0.00
φ1,000.00	ψ1,000.00	φ111,000.00	φ111,000.00	φ0.00	ψ0.00
	\$168,338.00		\$626,286.00		\$0.00
\$20.00	\$168,338.00 \$500.00	\$85.00	\$626,286.00 \$2,125.00	\$0.00	\$0.00 \$0.00
\$40.00		\$85.00 \$106.00		\$0.00 \$0.00	
\$40.00 \$120.00	\$500.00 \$6,400.00 \$1,200.00	\$106.00 \$670.00	\$2,125.00 \$16,960.00 \$6,700.00	\$0.00 \$0.00	\$0.00 \$0.00 \$0.00
\$40.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00	\$106.00	\$2,125.00 \$16,960.00	\$0.00	\$0.00 \$0.00
\$40.00 \$120.00	\$500.00 \$6,400.00 \$1,200.00	\$106.00 \$670.00	\$2,125.00 \$16,960.00 \$6,700.00	\$0.00 \$0.00	\$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00	\$106.00 \$670.00 \$600.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00	\$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00	\$106.00 \$670.00 \$600.00 \$560.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$73,920.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$100.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00	\$106.00 \$670.00 \$600.00 \$560.00 \$600.00 \$160.00 \$117.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$73,920.00 \$18,000.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$100.00 \$10.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$600.00	\$106.00 \$670.00 \$600.00 \$560.00 \$600.00 \$160.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$73,920.00 \$18,000.00 \$10,880.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$100.00 \$10.00 \$6.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00	\$106.00 \$670.00 \$600.00 \$560.00 \$600.00 \$160.00 \$117.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$73,920.00 \$18,000.00 \$10,880.00 \$5,850.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$100.00 \$100.00 \$10.00 \$6.00 \$300.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$600.00 \$1,600.00 \$90.00	\$106.00 \$670.00 \$600.00 \$560.00 \$600.00 \$160.00 \$117.00 \$5,500.00	\$2,125.00 \$16,960.00 \$19,200.00 \$73,920.00 \$18,000.00 \$10,880.00 \$5,850.00 \$11,000.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$3.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$680.00 \$300.00 \$600.00 \$1,600.00 \$1,600.00 \$108.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$13,920.00 \$10,880.00 \$10,880.00 \$5,850.00 \$11,000.00 \$9,000.00 \$11,305.00 \$11,296.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$600.00 \$1,600.00 \$90.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00	\$2,125.00 \$16,960.00 \$19,200.00 \$73,920.00 \$18,000.00 \$10,880.00 \$5,850.00 \$11,000.00 \$9,000.00 \$1,305.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$3.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$680.00 \$300.00 \$600.00 \$1,600.00 \$1,600.00 \$108.00	\$106.00 \$670.00 \$560.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$13,920.00 \$10,880.00 \$10,880.00 \$5,850.00 \$11,000.00 \$9,000.00 \$11,305.00 \$11,296.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$6.00 \$300.00 \$800.00 \$2.00 \$3.00 \$20.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$680.00 \$1,600.00 \$1,600.00 \$108.00 \$132,000.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$19,200.00 \$10,880.00 \$5,850.00 \$11,080.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$800.00 \$2.00 \$3.00 \$2.00 \$16.00	\$500.00 \$6,400.00 \$1,200.00 \$1,320.00 \$1,320.00 \$680.00 \$680.00 \$680.00 \$1,600.00 \$1,600.00 \$10,000 \$10,000 \$10,000 \$112,000.00 \$12,400.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00	\$2,125.00 \$16,960.00 \$19,200.00 \$73,920.00 \$18,000.00 \$10,880.00 \$5,850.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00 \$26,350.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$2.00 \$3.00 \$2.00 \$3.00 \$3.00 \$2.00 \$3.00 \$3.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$680.00 \$300.00 \$6600.00 \$16,600.00 \$11,600.00 \$11,600.00 \$11,2,000.00 \$132,000.00 \$12,400.00 \$300.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$2,800.00 \$114,000.00	\$2,125.00 \$16,960.00 \$19,200.00 \$19,200.00 \$10,880.00 \$10,880.00 \$5,850.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00 \$26,350.00 \$2,800.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$2.00 \$3.00 \$2.00 \$3.00 \$3.00 \$2.00 \$3.00 \$3.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,2,000.00 \$12,400.00 \$300.00 \$4,000.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$4,500.00 \$46.50 \$34.00 \$2,800.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$18,000.00 \$10,880.00 \$5,850.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00 \$26,350.00 \$2,800.00 \$114,000.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$2.00 \$20.00 \$20.00 \$16.00 \$300.00 \$4,000.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$6600.00 \$16,600.00 \$11,600.00 \$11,600.00 \$11,600.00 \$11,2,000.00 \$12,400.00 \$12,400.00 \$168,338.00 \$11,048,443.50	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$2,800.00 \$114,000.00	\$2,125.00 \$16,960.00 \$19,200.00 \$73,920.00 \$10,880.00 \$10,880.00 \$5,850.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00 \$26,350.00 \$26,350.00 \$2,800.00 \$2,800.00 \$2,800.00 \$114,000.00 \$114,000.00 \$114,000.00 \$1,062,847.87	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$2.00 \$20.00 \$20.00 \$16.00 \$300.00 \$4,000.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$680.00 \$680.00 \$600.00 \$108.00 \$108.00 \$112,400.00 \$12,400.00 \$12,400.00 \$142,400.00 \$168,338.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$2,800.00 \$114,000.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$19,200.00 \$19,200.00 \$10,880.00 \$10,880.00 \$11,080.00 \$11,000.00 \$1,305.00 \$11,296.00 \$306,900.00 \$26,350.00 \$2,800.00 \$114,000.00 \$114,000.00 \$114,000.00 \$114,000.00 \$11,062,847.87 \$1,500.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$2.00 \$20.00 \$20.00 \$16.00 \$300.00 \$4,000.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$6600.00 \$16,600.00 \$11,600.00 \$11,600.00 \$11,600.00 \$11,2,000.00 \$12,400.00 \$12,400.00 \$168,338.00 \$11,048,443.50	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$2,800.00 \$114,000.00	\$2,125.00 \$16,960.00 \$19,200.00 \$73,920.00 \$10,880.00 \$10,880.00 \$5,850.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00 \$26,350.00 \$26,350.00 \$2,800.00 \$2,800.00 \$2,800.00 \$114,000.00 \$114,000.00 \$114,000.00 \$1,062,847.87	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$2.00 \$20.00 \$20.00 \$16.00 \$300.00 \$4,000.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$680.00 \$680.00 \$1600.00 \$10,000 \$10,000 \$112,400.00 \$114,400.00 \$	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$2,800.00 \$114,000.00	\$2,125.00 \$16,960.00 \$19,200.00 \$19,200.00 \$13,000.00 \$10,880.00 \$10,880.00 \$11,000.00 \$11,000.00 \$1,305.00 \$1,305.00 \$1,305.00 \$1,306,900.00 \$26,350.00 \$2,800.00 \$114,000.00 \$114,000.00 \$1,062,847.87 \$1,500.00 \$1,064,347.87	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$2.00 \$20.00 \$20.00 \$16.00 \$300.00 \$4,000.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$680.00 \$300.00 \$6600.00 \$108.00 \$108.00 \$112,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$168,338.00 \$1,048,443.50 \$550.00 \$1,048,993.50 \$168,338.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$2,800.00 \$114,000.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$13,000.00 \$10,880.00 \$5,850.00 \$11,000.00 \$1,305.00 \$1,305.00 \$1,296.00 \$306,900.00 \$2,800.00 \$2,800.00 \$2,800.00 \$114,000.00 \$114,000.00 \$114,000.00 \$1,062,847.87 \$1,500.00 \$1,064,347.87 \$1,500.00 \$1,064,347.87	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$2.00 \$20.00 \$20.00 \$16.00 \$300.00 \$4,000.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$680.00 \$3,000.00 \$6600.00 \$16,600.00 \$11,600.00 \$11,600.00 \$11,2,000.00 \$12,400.00 \$12,400.00 \$12,400.00 \$14,000.00 \$14,000.00 \$168,338.00 \$168,338.00 \$168,338.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$2,800.00 \$114,000.00	\$2,125.00 \$16,960.00 \$19,200.00 \$19,200.00 \$19,200.00 \$10,880.00 \$10,880.00 \$10,880.00 \$10,880.00 \$11,0000 \$1,305.00 \$1,305.00 \$1,305.00 \$2,6,350.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00 \$1114,000.00 \$26,250.00 \$1,062,847.87 \$1,500.00 \$1,064,347.87 \$1,500.00 \$1,064,347.87 \$626,286.00 \$626,286.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.000\$00 \$0.000\$00 \$0.000\$00\$000\$0
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$2.00 \$20.00 \$20.00 \$16.00 \$300.00 \$4,000.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,600.00 \$12,400.00 \$12,400.00 \$12,400.00 \$14,000.00 \$14,000.00 \$14,000.00 \$168,338.00 \$168,338.00 \$168,338.00 \$168,338.00 \$168,338.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$36.00 \$36.00 \$34.00 \$34.00 \$2,800.00 \$114,000.00	\$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$19,200.00 \$10,880.00 \$5,850.00 \$11,080.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00 \$26,350.00 \$2,800.00 \$114,000.00 \$114,000.00 \$114,000.00 \$114,000.00 \$114,000.00 \$114,000.00 \$11,62,847.87 \$1,500.00 \$1,064,347.87 \$626,286.00 \$626,286.00 \$626,286.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$40.00 \$120.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$800.00 \$2.00 \$2.00 \$20.00 \$20.00 \$16.00 \$300.00 \$4,000.00	\$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$680.00 \$3,000.00 \$6600.00 \$16,600.00 \$11,600.00 \$11,600.00 \$11,2,000.00 \$12,400.00 \$12,400.00 \$12,400.00 \$14,000.00 \$14,000.00 \$168,338.00 \$168,338.00 \$168,338.00	\$106.00 \$670.00 \$600.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$36.00 \$36.00 \$34.00 \$34.00 \$2,800.00 \$114,000.00	\$2,125.00 \$16,960.00 \$19,200.00 \$19,200.00 \$19,200.00 \$10,880.00 \$10,880.00 \$10,880.00 \$10,880.00 \$11,0000 \$1,305.00 \$1,305.00 \$1,305.00 \$2,6,350.00 \$2,800.00 \$2,800.00 \$2,800.00 \$2,800.00 \$1114,000.00 \$26,250.00 \$1,062,847.87 \$1,500.00 \$1,064,347.87 \$1,500.00 \$1,064,347.87 \$626,286.00 \$626,286.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.000\$00 \$0.000\$00\$00\$00\$00\$00\$00\$00\$00\$00\$00\$00\$

PROJECT: BROOKHAVEN TRAIL MCIP PROJECT 17701 LIMITS: VALLEY VIEW LANE TO VITRUVIAN TRAIL

BID TAB

BID: 2013-045-6336 DATE: June 20, 2013

PROJECT MANAGER: Komala Narra, P.E.

			RoeschCo	2CM	D Inc.	CPS Civil	Northstar C	onstruction	Urban Con	struction	The Fair	n Group	Cole Cons	struction	Austin Filte	er Systems	Omega C	ontracting
ITEM DESCRIPTION	UNIT	QUANTITY	UNIT PRICE EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE EXTENSION	UNIT PRICE	EXTENSION		EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
BASE BID 100 PREPARATION OF ROW	STA	40	\$300.00 \$14,700.00	\$595.00	\$29,155.00	\$1,500.00 \$73,500.00	\$800.00	\$39,200.00	\$800.00	\$39,200.00	\$1,000.00	¢40.000.00	\$430.00	\$21,070.00	\$450.00	\$22,050.00	\$400.00	\$10,600,00
100 PREPARATION OF ROW 104 REMOVING CONCRETE	STA	49 416	\$7.00 \$2,912.00	\$8.93		\$1,500.00 \$73,500.00 \$13,500.00		\$4,576.00	\$800.00	\$2,496.00	\$1,000.00	\$49,000.00 \$4,992.00	\$430.00	\$21,070.00	\$450.00	\$22,050.00	\$400.00	\$19,600.00 \$3,744.00
105 REMOVING STABILIZED BASE AND ASPHALT PAVEMENT	SY	74	\$10.00 \$740.00	\$10.12	\$748.88	\$10.00 \$740.00	\$11.00	\$814.00	\$9.00	\$666.00	\$12.00	\$888.00	\$10.00	\$740.00	\$6.50	\$481.00	\$8.50	\$629.00
110 EXCAVATION (UNCLASSIFIED) 132 EMBANKMENT	CY CY	1,303 1,581	\$10.00 \$13,030.00 \$16.00 \$25,296.00	\$29.75 \$29.75		\$15.00 \$19,545.00 \$16.00 \$25,296.00		\$26,060.00 \$36,363.00	\$14.00 \$20.00	\$18,242.00 \$31,620.00	\$7.00 \$11.00	\$9,121.00 \$17,391.00	\$21.00 \$12.00	\$27,363.00 \$18,972.00	\$35.00 \$22.00	\$45,605.00 \$34,782.00	\$15.50 \$7.50	\$20,196.50 \$11,857.50
162 BLOCK SODDING	SY	3,300	\$7.00 \$23,100.00	\$3.57		\$6.00 \$19,800.00		\$11,550.00	\$20.00	\$16,500.00	\$4.00	\$13,200.00	\$5.00	\$16,500.00	\$6.00	\$19,800.00	\$4.25	\$14,025.00
360 CONCRETE PAVEMENT (CL P)(8"THK)	SY	25	\$50.00 \$1,250.00	\$59.00		\$70.00 \$1,750.00		\$1,500.00	\$58.00	\$1,450.00	\$60.00	\$1,500.00	\$100.00	\$2,500.00	\$85.00	\$2,125.00	\$55.00	\$1,375.00
416 DRILLED SHAFT (24 IN) 420 CONCRETE CLASS C (ABUTMENT)	LF CY	<u>160</u> 10	\$65.00 \$10,400.00 \$575.00 \$5,750.00	\$59.50 \$499.80	. ,	\$140.00 \$22,400.00 \$500.00 \$5,000.00	· · · · ·	\$13,920.00 \$6,300.00	\$90.00 \$800.00	\$14,400.00 \$8,000.00	\$76.00 \$678.00	\$12,160.00 \$6,780.00	\$110.00 \$1,400.00	\$17,600.00 \$14,000.00	\$106.00 \$670.00	\$16,960.00 \$6,700.00	\$80.00 \$575.00	\$12,800.00 \$5,750.00
420 REINFORCED CONCRETE LANDING SLAB W/THICKENED EDGE	CY	32	\$575.00 \$18,400.00	\$380.80	. ,	\$350.00 \$11,200.00	\$500.00	\$16,000.00	\$625.00	\$20,000.00	\$1,000.00	\$32,000.00	\$380.00	\$12,160.00	\$600.00	\$19,200.00	\$375.00	\$12,000.00
423 CONCRETE RETAINING WALL (CAST-IN-PLACE)	SY	132	\$250.00 \$33,000.00	\$77.35	. ,	\$250.00 \$33,000.00		\$50,160.00	\$75.00	\$9,900.00	\$560.00	\$73,920.00	\$320.00	\$42,240.00	\$560.00	\$73,920.00	\$225.00	\$29,700.00
432 RIPRAP (COMMON STONE)(18")(GROUT) 442 METAL FOR STRUCTURES	CY LB	24 378	\$300.00 \$7,200.00 \$3.00 \$1,134.00	\$142.80 \$6.30		\$50.00 \$1,200.00 \$25.00 \$9,450.00		\$4,560.00 \$2,646.00	\$74.00 \$16.00	\$1,776.00 \$6.048.00	\$140.00 \$11.00	\$3,360.00 \$4,158.00	\$110.00 \$10.00	\$2,640.00 \$3,780.00	\$160.00 \$4.00	\$3,840.00 \$1,512.00	\$250.00 \$10.75	\$6,000.00 \$4,063.50
450 RAILING (42" HT)	LF	260	\$55.00 \$14,300.00	\$114.14		\$95.00 \$24,700.00		\$18,200.00	\$120.00	\$31,200.00	\$105.00	\$27,300.00	\$96.00	\$24,960.00	\$120.00	\$31,200.00	\$85.00	\$22,100.00
462 BOX CULVERT (6'X3')	LF	30	\$350.00 \$10,500.00	\$363.19	\$10,895.70	\$500.00 \$15,000.00	\$350.00	\$10,500.00	\$450.00	\$13,500.00	\$565.00	\$16,950.00	\$466.00	\$13,980.00	\$600.00	\$18,000.00	\$300.00	\$9,000.00
464 REINFORCED CONCRETE PIPE (24" PIPE) 464 REINFORCED CONCRETE PIPE (12" PIPE)	LF	68 50	\$60.00 \$4,080.00 \$50.00 \$2,500.00	\$51.05 \$26.30	. ,	\$50.00 \$3,400.00 \$40.00 \$2,000.00	0 \$80.00 0 \$50.00	\$5,440.00 \$2,500.00	\$75.00 \$60.00	\$5,100.00 \$3,000.00	\$87.00 \$54.00	\$5,916.00 \$2,700.00	\$90.00 \$42.00	\$6,120.00 \$2,100.00	\$160.00 \$117.00	\$10,880.00 \$5,850.00	\$65.00 \$50.00	\$4,420.00 \$2,500.00
466 HEADWALL (CH-PW-S)(FOR PIPE)	EA	2	\$1,500.00 \$3,000.00	\$5,712.00		\$950.00 \$1,900.00	\$2,500.00	\$5,000.00	\$3,000.00	\$6,000.00	\$4,300.00	\$8,600.00	\$2,100.00	\$4,200.00	\$5,500.00	\$11,000.00	\$2,000.00	\$4,000.00
466 HEADWALL (PW)(FOR BOX)	EA	2	\$6,800.00 \$13,600.00	\$11,900.00	\$23,800.00	\$5,000.00 \$10,000.00	\$2,500.00	\$5,000.00	\$5,000.00	\$10,000.00	\$4,900.00	\$9,800.00	\$7,400.00	\$14,800.00	\$4,500.00	\$9,000.00		\$0.00
479 ADJUSTING MANHOLES AND INLETS 500 MOBILIZATION	EA LS	2	\$250.00 \$500.00 \$160,000.00 \$160,000.00	\$595.00 \$51,816.17		\$600.00 \$1,200.00 \$45,000.00 \$45,000.00) \$300.00 \$60,000.00	\$600.00 \$60,000.00	\$1,000.00 \$45,000.00	\$2,000.00 \$45,000.00	\$350.00 \$65,000.00	\$700.00 \$65,000.00	\$1,600.00 \$50,000.00	\$3,200.00 \$50,000.00	\$1,800.00 \$50,000.00	\$3,600.00 \$50,000.00		\$0.00 \$0.00
502 BARRICADES, SIGNS AND TRAFFIC HANDLING	MO	10	\$500.00 \$5,000.00	\$1,430.98	. ,	. , . ,	. ,	\$10,000.00	\$1,500.00	\$15,000.00	\$1,200.00	\$12,000.00	\$1,200.00	\$12,000.00	. ,	\$17,000.00		\$0.00
504 FIELD OFFICE	MO	12	\$900.00 \$10,800.00	\$595.00	\$7,140.00	\$2,000.00 \$24,000.00	. ,	\$13,200.00	\$1,200.00	\$14,400.00	\$900.00	\$10,800.00	\$1,580.00	\$18,960.00	\$1,000.00	\$12,000.00		\$0.00
506 ROCK FILTER DAM (INSTALL)(TY 3) 506 ROCK FILTER DAM (REMOVE)(TY 3)	LF LF	157 157	\$24.00 \$3,768.00 \$8.00 \$1,256.00	\$28.56 \$8.33		\$45.00 \$7,065.00 \$10.00 \$1,570.00		\$4,710.00 \$1,256.00	\$30.00 \$12.00	\$4,710.00 \$1,884.00	\$32.00 \$21.00	\$5,024.00 \$3,297.00	\$40.00 \$20.00	\$6,280.00 \$3,140.00	\$35.00 \$8.00	\$5,495.00 \$1,256.00		\$0.00 \$0.00
506 CONSTRUCTION EXITS (INSTALL)(TY 1)	SY	217	\$10.00 \$2,170.00	\$10.71		\$25.00 \$5,425.00		\$2,604.00	\$15.00	\$3,255.00	\$15.00	\$3,255.00	\$9.00	\$1,953.00	\$19.00	\$4,123.00		\$0.00
506 CONSTRUCTION EXITS (REMOVE)(TY 1)	SY	217	\$8.00 \$1,736.00	\$7.14		\$5.00 \$1,085.00		\$1,519.00	\$10.00	\$2,170.00	\$14.00	\$3,038.00	\$3.00	\$651.00	\$6.00	\$1,302.00	A (F)	\$0.00
506 TEMPORARY SEDIMENT CONTROL FENCE (INSTALL) 506 TEMPORARY SEDIMENT CONTROL FENCE (REMOVE)	LF	6,000 6,000	\$1.10 \$6,600.00 \$0.25 \$1,500.00	\$1.43 \$0.36	. ,	\$2.00 \$12,000.00 \$0.50 \$3,000.00		\$9,000.00 \$2,400.00	\$1.50 \$0.25	\$9,000.00 \$1,500.00	\$1.00 \$0.50	\$6,000.00 \$3.000.00	\$2.00 \$0.25	\$12,000.00 \$1,500.00	\$2.00 \$1.00	\$12,000.00 \$6,000.00	\$1.50 \$0.50	\$9,000.00 \$3,000.00
506 INLET PROTECTION (INSTALL)	EA	2	\$60.00 \$120.00	\$119.00		\$70.00 \$140.00		\$250.00	\$100.00	\$200.00	\$300.00	\$600.00	\$90.00	\$180.00	\$145.00	\$290.00	\$250.00	\$500.00
506 INLET PROTECTION (REMOVE)	EA	2	\$25.00 \$50.00	\$29.75	\$59.50	\$25.00 \$50.00		\$60.00	\$20.00	\$40.00	\$140.00	\$280.00	\$10.00	\$20.00	\$72.00	\$144.00	\$25.00	\$50.00
506 BIODEGRADABLE LOG 506 PERMANENT EROSIONCONTROL MAT (CURLEX)	EA SF	1 200	\$100.00 \$100.00 \$1.00 \$200.00	\$71.40 \$2.38	\$71.40 \$476.00	\$30.00 \$30.00 \$1.00 \$200.00		\$100.00 \$500.00	\$100.00 \$1.00	\$100.00 \$200.00	\$100.00 \$0.30	\$100.00 \$60.00	\$80.00 \$1.00	\$80.00 \$200.00	\$500.00 \$2.50	\$500.00 \$500.00	\$100.00 \$0.50	\$100.00 \$100.00
528 BRICK PAVERS	SY	292	\$70.00 \$20,440.00	\$44.03	\$12,856.76	\$70.00 \$20,440.00	\$26.00	\$7,592.00	\$75.00	\$21,900.00	\$100.00	\$29,200.00	\$98.00	\$28,616.00	\$20.00	\$5,840.00	\$65.00	\$18,980.00
529 CONCRETE CURB (6") 529 CONCRETE CURB (9")	LF	45 36	\$18.00 \$810.00 \$20.00 \$720.00	\$11.90 \$17.85	\$535.50 \$642.60	\$30.00 \$1,350.00 \$40.00 \$1,440.00		\$180.00 \$216.00	\$18.00 \$20.00	\$810.00 \$720.00	\$5.00 \$8.00	\$225.00 \$288.00	\$8.00 \$9.00	\$360.00 \$324.00	\$29.00 \$36.00	\$1,305.00 \$1,296.00	\$4.00 \$5.00	\$180.00 \$180.00
531 CONCRETE SIDEWALK (CLASS C)(6")(10'-12' WIDE)	SY	6,600	\$36.00 \$237,600.00	\$33.32		\$40.00 \$264,000.00				\$310,200.00	\$42.00	\$277,200.00	\$9.00	\$290,400.00	\$46.50	\$306,900.00	\$63.00	\$415,800.00
531 CONCRETE SIDEWALK (CLASS C)(4")(5'-7' WIDE)	SY	775	\$32.00 \$24,800.00	\$34.51		\$38.00 \$29,450.00		\$26,350.00	\$40.00	\$31,000.00	\$34.00	\$26,350.00	\$46.00	\$35,650.00	\$34.00	\$26,350.00	\$63.00	\$48,825.00
531 CURB RAMPS 540 METAL BEAM GUARD FENCE (MBGF)(TIM POST)	EA LF	<u>1</u> 150	\$750.00 \$750.00 \$23.00 \$3,450.00	\$1,428.00 \$99.96		\$1,500.00 \$1,500.00 \$30.00 \$4,500.00	0 \$1,600.00 0 \$35.00	\$1,600.00 \$5,250.00	\$850.00 \$40.00	\$850.00 \$6,000.00	\$980.00 \$25.00	\$980.00 \$3,750.00	\$1,400.00 \$23.00	\$1,400.00 \$3,450.00	\$2,800.00 \$33.00	\$2,800.00 \$4,950.00	\$1,400.00 \$90.00	\$1,400.00 \$13,500.00
540 TERMINAL END SECTION (SHORT)EE	EA	4	\$500.00 \$2,000.00	\$2,975.00		\$1,800.00 \$7,200.00		\$11,200.00	\$750.00	\$3,000.00	\$1,000.00	\$4,000.00	\$970.00	\$3,880.00	\$1,100.00	\$4,400.00	\$2,800.00	\$11,200.00
644 SMALL ROAD SIDE SIGN SUPPORTS AND ASSEMBLIES	EA	69	\$325.00 \$22,425.00	\$416.00		\$300.00 \$20,700.00		\$27,600.00	\$300.00	\$20,700.00	\$590.00	\$40,710.00	\$420.00	\$28,980.00	\$570.00	\$39,330.00	\$400.00	\$27,600.00
658 OBJECT MARKERS (OM-3) 666 REF PAV MARKING TY I (Y)(4")(BROKEN)	EA LF	<u>2</u> 5.000	\$200.00 \$400.00 \$0.85 \$4,250.00	\$178.50 \$1.25		\$450.00 \$900.00 \$1.25 \$6,250.00		\$600.00 \$5,000.00	\$50.00 \$1.30	\$100.00 \$6,500.00	\$590.00 \$1.00	\$1,180.00 \$5,000.00	\$60.00 \$0.60	\$120.00 \$3,000.00	\$110.00 \$1.50	\$220.00 \$7,500.00	\$95.00 \$1.00	\$190.00 \$5,000.00
678 PAVEMENT SURFACE PREPARATION FOR MARKING TY I (Y)(4")(BROKEN)	LF	5,000	\$0.25 \$1,250.00	\$0.36		\$0.25 \$1,250.00		\$1,000.00	\$0.25	\$1,250.00	\$0.15	\$750.00	\$0.10	\$500.00	\$0.50	\$2,500.00	\$0.25	\$1,250.00
740 ANTI-GRAFFI COATING	SF	890	\$2.50 \$2,225.00	\$3.57	+-/	\$1.00 \$890.00		\$1,513.00	\$4.00	\$3,560.00	\$4.00	\$3,560.00	\$2.00	\$1,780.00	\$1.40	\$1,246.00	\$4.00	\$3,560.00
752 TREE AND BRUSH REMOVAL 4810 BRIDGE (CONTINENTAL KEY) OR EQUAL	EA	<u>17</u> 1	\$425.00 \$7,225.00 \$93.500.00 \$93.500.00	\$357.00 \$121.762.79	\$6,069.00 \$121,762.79	\$300.00 \$5,100.00 \$115.000.00 \$115.000.00	0 \$400.00 0 \$120,000.00	\$6,800.00 \$120.000.00	\$300.00 \$100.000.00	\$5,100.00 \$100.000.00	\$350.00 \$104.000.00	\$5,950.00 \$104.000.00	\$280.00 \$196.800.00	\$4,760.00	\$440.00 \$114.000.00	\$7,480.00 \$114.000.00	\$4.00 \$110.000.00	\$68.00 \$110.000.00
5500 BENCHES	EA	4	\$2,650.00 \$10,600.00	\$3,233.23	\$12,932.92	\$1,600.00 \$6,400.00	\$3,600.00	\$14,400.00	\$3,000.00	\$12,000.00	\$1,800.00	\$7,200.00	\$2,000.00	\$8,000.00	\$1,450.00	\$5,800.00	\$3,000.00	\$12,000.00
6001 REMOVABLE/LOCKABLE BOLLARDS 6002 R-RAP (SACRETE WALL)	EA SY	3 57	\$500.00 \$1,500.00 \$285.00 \$16,245.00					\$1,050.00 \$19,950.00	\$800.00 \$300.00	\$2,400.00 \$17,100.00		\$3,600.00 \$28,500.00	\$1,000.00 \$118.00	\$3,000.00 \$6,726.00	. ,	\$3,300.00 \$5,700.00	\$1,300.00 \$100.00	\$3,900.00 \$5,700.00
6002 IRRIGATION MODIFICATION	LS	1	\$5,000.00 \$5,000.00			\$15,000.00 \$15,000.00		\$2,000.00	\$2,000.00	\$2,000.00		\$11,000.00	\$118.00	\$3,000.00		\$7,200.00	\$1,500.00	\$1,500.00
6004 RUBBERIZED SURFACE FOR JOGGING TRAIL	SF	6,975	\$3.30 \$23,017.50					\$27,900.00	\$4.00	\$27,900.00	\$4.00	\$27,900.00	\$4.00	\$27,900.00	\$4.70	\$32,782.50	\$5.00	\$34,875.00
6005 TREE TRUNK PROTECTION 6006 TREE TRANSPLANTATION	LF EA	<u>1,202</u> 9	\$1.10 \$1,322.20 \$1,000.00 \$9,000.00			\$6.00 \$7,212.00 \$730.00 \$6,570.00		\$1,803.00 \$3,600.00	\$2.00 \$1,500.00	\$2,404.00 \$13,500.00	\$1.00 \$350.00	\$1,202.00 \$3,150.00	\$2.00 \$1,100.00	\$2,404.00 \$9,900.00	\$2.20 \$1,800.00	\$2,644.40 \$16,200.00	\$5.50 \$500.00	\$6,611.00 \$4,500.00
6618-001 3/4" RIGID ALUMINUM CONDUIT	LF	100	\$9.00 \$900.00			\$14.00 \$1,400.00		\$1,100.00	\$40.00	\$4,000.00	\$18.00	\$1,800.00	\$6.00	\$600.00	\$1,800.00	\$2,100.00	\$13.00	\$1,300.00
6618-002 1" PVC SCHEDULE 40 CONDUIT	LF	150	\$6.00 \$900.00			\$13.00 \$1,950.00		\$1,275.00	\$30.00	\$4,500.00	\$19.00	\$2,850.00	\$3.00	\$450.00	\$5.00	\$750.00	\$9.00	\$1,350.00
6618-003 1" PVC COATED RIGID ALUMINUM CONDUIT 6618-004 3/4" LIQUID-TIGHT ALUMINUM CONDUIT	LF LF	40	\$10.00 \$400.00 \$25.00 \$250.00			\$15.00 \$600.00 \$14.00 \$140.00		\$520.00 \$30.00	\$45.00 \$110.00	\$1,800.00 \$1,100.00	\$23.00 \$60.00	\$920.00 \$600.00	\$7.00 \$20.00	\$280.00 \$200.00	\$26.00 \$36.00	\$1,040.00 \$360.00	\$15.00 \$8.00	\$600.00 \$80.00
6618-005 NEMA 3R ALUMINUM ENCLOSURE	EA	1	\$1,500.00 \$1,500.00	\$1,704.08	\$1,704.08	\$950.00 \$950.00	\$4,500.00	\$4,500.00	\$2,500.00	\$2,500.00	\$2,000.00	\$2,000.00	\$6,900.00	\$6,900.00	\$720.00	\$720.00	\$600.00	\$600.00
6620-001 #12 AWG INSULATED COPPER CONDUCTOR	LF	725	\$0.40 \$290.00 \$7.00 \$105.00			\$4.00 \$2,900.00		\$580.00	\$40.00	\$29,000.00	\$0.50	\$362.50	\$0.80	\$580.00	\$1.50	\$1,087.50	\$1.00	
6620-002 #8 AWG INSULATED COPPER CONDUCTOR 6620-003 #4/0 BARE COPPER CONDUCTOR	LF	15 40	\$7.00 \$105.00 \$10.00 \$400.00			\$3.00 \$45.00 \$8.00 \$320.00		\$30.00 \$440.00	\$25.00 \$40.00	\$375.00 \$1,600.00		\$150.00 \$560.00	\$0.70 \$0.60	\$10.50 \$24.00		\$45.00 \$300.00	\$1.50 \$7.00	\$22.50 \$280.00
6691-001 BEGA-US LED LIGHTING FIXTURE TYPE 7911 LED (OR APPROVED EQUAL)	EA	2	\$6,000.00 \$12,000.00	\$7,790.93	\$15,581.86	\$5,400.00 \$10,800.00	\$5,700.00	\$11,400.00	\$2,500.00	\$5,000.00	\$9,200.00	\$18,400.00	\$9,000.00	\$18,000.00	\$3,600.00	\$7,200.00	\$6,000.00	\$12,000.00
6693-001 GROUNDING SYSTEM	EA	1	\$1,000.00 \$1,000.00	\$1,291.15	\$1,291.15	\$1,000.00 \$1,000.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$400.00	\$400.00	\$722.47	\$722.47	\$600.00	\$600.00
SUBTOTAL BASE			\$904,966.70		\$920,520.53	\$973,223.00)	\$958,417.00		\$978,926.00		\$1,027,727.50	:	\$1,048,443.50		\$1,062,847.87		\$940,887.00

LIMITS:	T: BROOKHAVEN TRAIL MCIP PROJECT 17701 VALLEY VIEW LANE TO VITRUVIAN TRAIL				BID TAB								BID: 2013-0 DATE: June			
PROJEC	T MANAGER: Komala Narra, P.E.															
				Roes	chCo	2CM	D Inc.	CPS	Civil	Northstar C	Construction	Urban Co	onstruction	The Fai	n Group	Co
ITEM	DESCRIPTION	UNIT	QUANTITY		EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT P
	BASE BID: DRY KILN															
360	CONCRETE PAVEMENT (CL P) (8" THK)	SY	25	\$50.00	\$1,250.00	\$59.00	\$1,475.00	\$70.00	\$1,750.00	\$60.00	\$1,500.00	\$58.00	. ,		\$1,500.00	
416	DRILLED SHAFT (24")	LF	160	\$65.00	\$10,400.00		\$9,520.00	\$140.00	\$22,400.00	\$87.00	\$13,920.00	\$90.00	. ,		\$12,160.00	+
420 420	CONCRETE CLASS C (ABUTMENT) REINFORCED CONCRETE LANDING SLAB W/THICKENED SLAB EDGE	CY CY	10 32	\$575.00 \$575.00	\$5,750.00 \$18,400.00		\$4,998.00 \$12,185.60	\$500.00 \$350.00	\$5,000.00 \$11,200.00	\$630.00 \$500.00	\$6,300.00 \$16,000.00	\$800.00 \$625.00			\$6,780.00 \$32,000.00	
420	CONCRETE RETAINING WALL (CAST-IN-PLACE)	SY	132	\$250.00	\$33.000.00		\$10,210.20	\$250.00	\$33,000.00	\$380.00	\$50,160.00	\$025.00			\$73,920.00	
462	BOX CULVERT (6'X3')	LF	30	\$350.00	\$10,500.00	+	\$10,895.70	\$500.00	\$15,000.00	\$350.00	\$10,500.00	\$450.00			\$16,950.00	
464	REINFORCED CONCRETE PIPE (24" PIPE)	LF	68	\$60.00	\$4,080.00		\$3,471.40	\$50.00	\$3,400.00	\$80.00	\$5,440.00	\$75.00		\$87.00	\$5,916.00) \$
464	REINFORCED CONCRETE PIPE (12" PIPE)	LF	50	\$50.00	\$2,500.00		\$1,315.00	\$40.00	\$2,000.00	\$50.00	\$2,500.00	\$60.00			\$2,700.00	
466 466	HEADWALL (CH-PW-S)(FOR PIPE) HEADWALL (PW)(FOR BOX)	EA	2	\$1,500.00 \$6,800.00	\$3,000.00 \$13,600.00		\$11,424.00 \$23,800.00	\$950.00 \$5,000.00	\$1,900.00	\$2,500.00 \$2,500.00	\$5,000.00 \$5,000.00	\$3,000.00 \$5,000.00			\$8,600.00 \$9,800.00	
529	CONCRETE CURB (6")	LF	45	\$6,800.00	\$13,600.00		\$23,800.00	\$5,000.00 \$30.00	\$1,350.00	\$2,500.00	\$5,000.00	\$5,000.00 \$18.00			\$9,800.00	
529	CONCRETE CURB (9")	LF	36	\$20.00	\$720.00		\$642.60	\$40.00	\$1,440.00	\$6.00	\$216.00	\$20.00			\$288.00	
531	CONCRETE SIDEWALK (CLASS C)(6")(10'-12' WIDE)	SY	6,600	\$36.00	\$237,600.00	\$33.32	\$219,912.00	\$40.00	\$264,000.00	\$43.25		\$47.00	\$310,200.00		\$277,200.00	
531	SIDEWALKS (5'-8' WIDE)(4")(CLASS C)	SY	775	\$32.00	\$24,800.00		\$26,745.25	\$38.00	\$29,450.00	\$34.00	\$26,350.00	\$40.00	. ,		\$26,350.00	
531		EA	1	\$750.00	\$750.00		\$1,428.00		\$1,500.00		\$1,600.00	\$850.00			\$980.00	
4810	BRIDGE (CONTINENTAL KEY) OR EQUAL	EA	1	\$93,500.00	\$93,500.00	\$121,762.29	\$121,762.29	\$115,000.00	\$115,000.00	\$120,000.00	\$120,000.00	\$100,000.00	\$100,000.00	\$104,000.00	\$104,000.00	\$4,0
	SUBTOTAL: BASE BID DRY KILN				\$460,660.00		\$460,320.54		\$518,390.00		\$550,116.00		\$534,930.00)	\$579,369.00)
360		SY	25	\$50.00	\$1,250.00	\$59.00	\$1,475.00	\$70.00	\$1,750.00	\$60.00	\$1,500.00	\$58.00	\$1,450.00	\$60.00	\$1,500.00	¢
416	CONCRETE PAVEMENT (CL P) (8" THK) DRILLED SHAFT (24")	LF	160	\$65.00	\$1,250.00		\$1,475.00	\$70.00	\$22,400.00	\$60.00	\$1,500.00	\$58.00	. ,		\$1,500.00	
420	CONCRETE CLASS C (ABUTMENT)	CY	10	\$575.00	\$5,750.00	\$499.80	\$4,998.00	\$500.00	\$5,000.00	\$630.00	\$6,300.00	\$800.00	. ,		\$6,780.00	
420	REINFORCED CONCRETE LANDING SLAB W/THICKENED SLAB EDGE	CY	32	\$575.00	\$18,400.00		\$12,185.60	\$350.00	\$11,200.00	\$500.00	\$16,000.00	\$625.00			\$32,000.00	
423	CONCRETE RETAINING WALL (CAST-IN-PLACE)	SY	132	\$250.00	\$33,000.00	\$77.35	\$10,210.20	\$250.00	\$33,000.00	\$380.00	\$50,160.00	\$75.00	. ,		\$73,920.00	
462		LF	30	\$350.00	\$10,500.00		\$10,895.70	\$500.00	\$15,000.00	\$350.00	\$10,500.00	\$450.00	. ,		\$16,950.00	
464	REINFORCED CONCRETE PIPE (24" PIPE) REINFORCED CONCRETE PIPE (12" PIPE)	LF LF	68 50	\$60.00 \$50.00	\$4,080.00 \$2,500.00		\$3,471.40 \$1,315.00	\$50.00 \$40.00	\$3,400.00 \$2,000.00	\$80.00 \$50.00	\$5,440.00 \$2,500.00	\$75.00 \$60.00	. ,		\$5,916.00 \$2,700.00	
466	HEADWALL (CH-PW-S)(FOR PIPE)	EA	2	\$1,500.00	\$3,000.00		\$11,424.00	\$950.00	\$1,900.00		\$5,000.00	\$3,000.00			\$8,600.00	
466	HEADWALL (PW)(FOR BOX)	EA	2	\$6,800.00	\$13,600.00		\$23,800.00	\$5,000.00	\$10,000.00		\$5,000.00	\$5,000.00			\$9,800.00	
529	CONCRETE CURB (6")	LF	45	\$18.00	\$810.00		\$535.50	\$30.00	\$1,350.00	\$4.00	\$180.00	\$18.00			\$225.00	
529	CONCRETE CURB (9")	LF	36	\$20.00	\$720.00		\$642.60	\$40.00	\$1,440.00	\$6.00	\$216.00	\$20.00			\$288.00	
531 531	CONCRETE SIDEWALK (CLASS C)(6")(10'-12' WIDE) SIDEWALKS (5'-8' WIDE)(4")(CLASS C)	SY SY	6,600 775	\$36.00 \$32.00		\$33.32 \$34.51	\$219,912.00 \$26,745.25	\$40.00 \$38.00	\$264,000.00 \$29,450.00	\$43.25 \$34.00		\$47.00 \$40.00	\$310,200.00		\$277,200.00	
531	CURB RAMPS	EA	1	\$750.00	\$24,800.00 \$750.00		\$1,428.00		\$1,500.00		\$26,350.00 \$1,600.00	\$40.00			\$26,350.00 \$980.00	
4810	BRIDGE (CONTINENTAL KEY) OR EQUAL	EA	1	\$93,500.00		\$121,762.29	. ,	\$115,000.00	. ,	\$120,000.00	. ,	\$100,000.00		\$104,000.00	\$104.000.00	
	SUBTOTAL ALTERNATE NO 1 - UNSPECIFIED SOURCE				\$460,660.00		\$460,320.54		\$518,390.00		\$550,116.00	• • • •	\$534,930.00		\$579,369.00	
	ALTERNATE NO. 2 - <1.7NOx															
360	CONCRETE PAVEMENT (CL P) (8" THK)	SY	25	\$50.00	\$1,250.00	\$59.00	\$1,475.00	\$70.00	\$1,750.00	\$60.00	\$1,500.00	\$58.00	\$1,450.00	\$60.00	\$1,500.00) \$
416	DRILLED SHAFT (24")	LF	160	\$65.00	\$10,400.00		\$9,520.00	\$140.00	\$22,400.00	\$87.00	\$13,920.00	\$90.00	+ ,		\$12,160.00	
420	CONCRETE CLASS C (ABUTMENT)	CY	10	\$575.00			\$4,998.00	\$500.00	\$5,000.00	\$630.00	\$6,300.00		. ,		\$6,780.00	
420 423	REINFORCED CONCRETE LANDING SLAB W/THICKENED SLAB EDGE	CY SY	32 132	\$575.00 \$250.00	\$18,400.00 \$33,000.00		\$12,185.60 \$10,210.20	\$350.00 \$250.00	\$11,200.00 \$33,000.00	\$500.00 \$380.00	\$16,000.00 \$50,160.00	\$625.00 \$75.00			\$32,000.00 \$73,920.00	
423	CONCRETE RETAINING WALL (CAST-IN-PLACE) BOX CULVERT (6'X3')	LF	30	\$250.00	\$10,500.00		\$10,210.20	\$500.00	\$15,000.00	\$350.00	\$10,500.00	\$450.00			\$16,950.00	
464	REINFORCED CONCRETE PIPE (24" PIPE)	LF	68	\$60.00	\$4,080.00		\$3,471.40	\$50.00	\$3,400.00	\$80.00	\$5,440.00	\$75.00			\$5,916.00	
464	REINFORCED CONCRETE PIPE (12" PIPE)	LF	50	\$50.00	\$2,500.00		\$1,315.00	\$40.00	\$2,000.00	\$50.00	\$2,500.00				\$2,700.00	
466	HEADWALL (CH-PW-S)(FOR PIPE)	EA	2	\$1,500.00	\$3,000.00		\$11,424.00	\$950.00	\$1,900.00		\$5,000.00	\$3,000.00		. ,	\$8,600.00	
466	HEADWALL (PW)(FOR BOX)	EA	2	\$6,800.00	\$13,600.00		\$23,800.00	\$5,000.00	\$10,000.00	\$2,500.00	\$5,000.00	\$5,000.00	. ,	. ,	\$9,800.00	
529 529	CONCRETE CURB (6") CONCRETE CURB (9")	LF LF	45 36	\$18.00 \$20.00	\$810.00 \$720.00		\$535.50 \$642.60	\$30.00 \$40.00	\$1,350.00 \$1,440.00	\$4.00 \$6.00	\$180.00 \$216.00	\$18.00 \$20.00			\$225.00 \$288.00	
531	CONCRETE SIDEWALK (CLASS C)(6")(10'-12' WIDE)	SY	6,600	\$36.00				\$40.00	\$264,000.00		\$285,450.00		\$310,200.00		\$277,200.00	
531	SIDEWALKS (5'-8' WIDE)(4")(CLASS C)	SY	775	\$32.00	\$24,800.00		\$26,745.25	\$38.00	\$29,450.00	\$34.00	\$26,350.00	\$40.00			\$26,350.00	
531	CURB RAMPS	EA	1	\$750.00	\$750.00	\$1,428.00	\$1,428.00		\$1,500.00		\$1,600.00	\$850.00			\$980.00) \$3
4810		EA	1	\$93,500.00		•		\$115,000.00				• · · ·		\$104,000.00	\$104,000.00	
7000	SUBTOTAL ALTERNATE NO 2 <1.7NOx PARTNERING WORKSHOP	1.0	1	¢400.00	\$460,660.00		\$460,320.54	¢2 000 00	\$518,390.00		\$550,116.00		\$534,930.00) \$700.00	\$579,369.00) \$5
7000	PARINERING WORKSHOP	LS	1	\$100.00		\$5,355.00		\$3,000.00		\$1,000.00		\$1.00		\$700.00		4 0
	BASE BID (DRY KILN): (TRAIL + DRAINAGE + BRIDGE) ITEM 7000 PARTNERING WORKSHOP TOTAL BID: BASE BID (DRY KILN) + PARTNERING WORKSHOP				\$904,966.70 \$100.00 \$905,066.70		\$920,520.53 \$5,355.00 \$925,875.53		\$973,223.00 \$3,000.00 \$976,223.00		\$958,417.00 \$1,000.00 \$959,417.00		\$978,926.00 \$1.00 \$978,927.00)	\$1,027,727.50 \$700.00 \$1,028,427.50)
	CONCRETE ITEMS A. BASE BID CONCRETE ITEMS ONLY (DRY KILN) B. ALTERNATE BID NO. 1 (UNSPECIFIED SOURCE) C. ALTERNATE BID NO. 2 (<1.7 Nox) TOTAL BID: A + B + PARTNERING WORKSHOP TOTAL BID: A + C + PARTNERING WORKSHOP				\$460,660.00 \$460,660.00 \$460,660.00 \$905,066.70 \$905,066.70		\$460,320.54 \$460,320.54 \$460,320.54 \$925,875.53 \$925,875.53		\$518,390.00 \$518,390.00 \$518,390.00 \$976,223.00 \$976,223.00		\$550,116.00 \$550,116.00 \$550,116.00 \$959,417.00 \$959,417.00		\$534,930.00 \$534,930.00 \$534,930.00 \$978,927.00 \$978,927.00)))	\$579,369.00 \$579,369.00 \$579,369.00 \$1,028,427.50 \$1,028,427.50))

\$20.00	\$500.00	\$85.00	\$2,125.00	\$55.00	\$1,375.00
\$40.00	\$6,400.00	\$106.00	\$16,960.00	\$80.00	\$12,800.00
\$120.00	\$1,200.00	\$670.00	\$6,700.00	\$575.00	\$5,750.00
\$120.00	\$3,840.00	\$600.00	\$19,200.00	\$375.00	\$12,000.00
\$10.00	\$1,320.00	\$560.00	\$73,920.00	\$225.00	\$29,700.00
\$100.00	\$3,000.00	\$600.00	\$18,000.00	\$300.00	\$9,000.00
\$10.00	\$680.00 \$300.00	\$160.00 \$117.00	\$10,880.00	\$65.00	\$4,420.00 \$2.500.00
\$6.00 \$300.00	\$600.00	\$117.00	\$5,850.00 \$11,000.00	\$50.00 \$2,000.00	\$2,500.00
\$800.00	\$1,600.00	\$4,500.00	\$9,000.00	\$6,700.00	\$13,400.00
\$2.00	\$90.00	\$29.00	\$1,305.00	\$4.00	\$180.00
\$3.00	\$108.00	\$36.00	\$1,296.00	\$5.00	\$180.00
\$20.00	\$132,000.00	\$46.50	\$306,900.00	\$63.00	\$415,800.00
\$16.00	\$12,400.00	\$34.00	\$26,350.00	\$63.00	\$48,825.00
\$300.00	\$300.00	\$2,800.00	\$2,800.00	\$1,400.00	\$1,400.00
\$4,000.00	\$4,000.00	\$114,000.00	\$114,000.00	\$110,000.00	\$110,000.00
	\$168,338.00		\$626,286.00		\$671,330.00
\$20.00	\$500.00	\$85.00	\$2,125.00	\$0.00	\$0.00
\$40.00	\$6,400.00	\$106.00	\$16,960.00	\$0.00	\$0.00
\$120.00	\$1,200.00	\$670.00	\$6,700.00	\$0.00	\$0.00
\$120.00	\$3,840.00	\$600.00	\$19,200.00	\$0.00	\$0.00
\$10.00	\$1,320.00	\$560.00	\$73,920.00	\$0.00	\$0.00
\$100.00	\$3,000.00	\$600.00	\$18,000.00	\$0.00	\$0.00
\$10.00	\$680.00	\$160.00	\$10,880.00	\$0.00	\$0.00
\$6.00 \$300.00	\$300.00	\$117.00	\$5,850.00	\$0.00 \$0.00	\$0.00
\$300.00	\$600.00 \$1,600.00	\$5,500.00 \$4,500.00	\$11,000.00 \$9,000.00	\$0.00	\$0.00 \$0.00
\$2.00	\$90.00	\$29.00	\$1,305.00	\$0.00	\$0.00
\$3.00	\$108.00	\$36.00	\$1,296.00	\$0.00	\$0.00
\$20.00	\$132,000.00	\$46.50	\$306,900.00	\$0.00	\$0.00
\$16.00	\$12,400.00	\$34.00	\$26,350.00	\$0.00	\$0.00
\$300.00	\$300.00	\$2,800.00	\$2,800.00	\$0.00	\$0.00
¢ 4 000 00	A	.		A	\$0.00
\$4,000.00	\$4,000.00	\$114,000.00	\$114,000.00	\$0.00	\$0.00
\$4,000.00	\$4,000.00 \$168,338.00	\$114,000.00	\$114,000.00 \$626,286.00	\$0.00	\$0.00 \$0.00
	\$168,338.00		\$626,286.00		\$0.00
\$4,000.00 \$20.00 \$40.00	. ,	\$114,000.00 \$85.00 \$106.00		\$0.00 \$0.00 \$0.00	•
\$20.00	\$168,338.00 \$500.00	\$85.00	\$626,286.00 \$2,125.00	\$0.00	\$0.00 \$0.00
\$20.00 \$40.00	\$168,338.00 \$500.00 \$6,400.00	\$85.00 \$106.00	\$626,286.00 \$2,125.00 \$16,960.00	\$0.00 \$0.00	\$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$120.00 \$10.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00	\$85.00 \$106.00 \$670.00 \$600.00 \$560.00	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$73,920.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$120.00 \$10.00 \$10.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00	\$85.00 \$106.00 \$670.00 \$600.00 \$560.00 \$600.00	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$73,920.00 \$18,000.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$120.00 \$10.00 \$100.00 \$10.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00	\$85.00 \$106.00 \$670.00 \$600.00 \$600.00 \$600.00 \$600.00 \$160.00	\$626,286.00 \$16,960.00 \$6,700.00 \$19,200.00 \$73,920.00 \$18,000.00 \$10,880.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$6.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$3,000.00 \$300.00	\$85.00 \$106.00 \$670.00 \$600.00 \$560.00 \$600.00 \$160.00 \$117.00	\$626,286.00 \$16,960.00 \$6,700.00 \$19,200.00 \$73,920.00 \$18,000.00 \$10,880.00 \$5,850.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$6.00 \$300.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$680.00	\$85.00 \$106.00 \$670.00 \$600.00 \$600.00 \$160.00 \$117.00 \$5,500.00	\$626,286.00 \$16,960.00 \$6,700.00 \$19,200.00 \$73,920.00 \$18,000.00 \$10,880.00 \$5,850.00 \$11,000.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$6.00 \$300.00 \$800.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$300.00 \$6800.00 \$1,600.00	\$85.00 \$106.00 \$670.00 \$560.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00	\$626,286.00 \$16,960.00 \$16,960.00 \$19,200.00 \$13,920.00 \$10,880.00 \$5,850.00 \$11,000.00 \$9,000.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$1,600.00 \$90.00	\$85.00 \$106.00 \$670.00 \$560.00 \$100.00 \$100.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00	\$626,286.00 \$16,960.00 \$6,700.00 \$19,200.00 \$13,200.00 \$10,880.00 \$10,880.00 \$5,850.00 \$11,000.00 \$9,000.00 \$11,305.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$300.00 \$300.00 \$300.00 \$300.00 \$300.00 \$3.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$300.00 \$1,600.00 \$1,600.00 \$90.00 \$108.00	\$85.00 \$106.00 \$670.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00	\$626,286.00 \$16,960.00 \$6,700.00 \$19,200.00 \$19,200.00 \$19,200.00 \$11,080.00 \$11,880.00 \$5,850.00 \$11,000.00 \$9,000.00 \$1,305.00 \$1,296.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$3,000.00 \$300.00 \$680.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,108.00 \$132,000.00	\$85.00 \$106.00 \$670.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$19,200.00 \$14,000.00 \$10,880.00 \$5,850.00 \$11,000.00 \$1,000.00 \$1,296.00 \$306,900.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$2.00 \$16.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$1,600.00 \$108.00 \$108.00 \$132,000.00 \$12,400.00	\$85.00 \$106.00 \$670.00 \$600.00 \$600.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$19,200.00 \$11,800.00 \$10,880.00 \$10,880.00 \$1,85,850.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00 \$26,350.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$3,000.00 \$300.00 \$680.00 \$1,600.00 \$1,600.00 \$1,600.00 \$1,108.00 \$132,000.00	\$85.00 \$106.00 \$670.00 \$560.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$19,200.00 \$14,000.00 \$10,880.00 \$5,850.00 \$11,000.00 \$1,000.00 \$1,296.00 \$306,900.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$6.00 \$300.00 \$800.00 \$2.00 \$3.00 \$2.00 \$3.00 \$2.00 \$3.00 \$2.00 \$3.00 \$2.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$1,600.00 \$1,600.00 \$12,400.00 \$12,400.00 \$300.00	\$85.00 \$106.00 \$670.00 \$600.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$4,500.00 \$46.50 \$34.00 \$2,800.00	\$626,286.00 \$16,960.00 \$16,960.00 \$19,200.00 \$19,200.00 \$10,880.00 \$10,880.00 \$10,880.00 \$10,880.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00 \$26,350.00 \$2,800.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$6.00 \$300.00 \$800.00 \$2.00 \$3.00 \$2.00 \$3.00 \$2.00 \$3.00 \$2.00 \$3.00 \$2.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$1,600.00 \$108.00 \$132,000.00 \$132,000.00 \$12,400.00 \$300.00 \$4,000.00	\$85.00 \$106.00 \$670.00 \$600.00 \$160.00 \$117.00 \$5,500.00 \$4,500.00 \$4,500.00 \$46.50 \$34.00 \$2,800.00	\$626,286.00 \$16,960.00 \$6,700.00 \$19,200.00 \$19,200.00 \$19,200.00 \$11,880.00 \$11,880.00 \$11,080.00 \$11,000.00 \$11,000.00 \$1,296.00 \$306,900.00 \$26,350.00 \$2,800.00 \$114,000.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00 \$3.00 \$30.00 \$300.00 \$4,000.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$1600.00 \$1600.00 \$12,400.00 \$12,400.00 \$12,400.00 \$14,000.00 \$168,338.00	\$85.00 \$106.00 \$670.00 \$560.00 \$100.00 \$117.00 \$117.00 \$4,500.00 \$4,500.00 \$4,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$34.00 \$34.00 \$34.00	\$626,286.00 \$2,125.00 \$16,960.00 \$19,200.00 \$19,200.00 \$10,880.00 \$10,880.00 \$10,880.00 \$10,880.00 \$1,305.00 \$1,305.00 \$1,296.00 \$1,296.00 \$306,900.00 \$2,800.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00 \$3.00 \$30.00 \$300.00 \$4,000.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$108.00 \$108.00 \$11,400.00 \$132,000.00 \$12,400.00 \$132,000.00 \$14,000.00 \$14,000.00 \$14,000.00 \$14,000.00 \$14,000.00 \$168,338.00 \$1,048,443.50	\$85.00 \$106.00 \$670.00 \$560.00 \$100.00 \$117.00 \$117.00 \$4,500.00 \$4,500.00 \$4,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$34.00 \$34.00 \$34.00	\$626,286.00 \$2,125.00 \$16,960.00 \$19,200.00 \$19,200.00 \$13,920.00 \$10,880.00 \$10,880.00 \$10,880.00 \$1,800.00 \$1,305.00 \$1,296.00 \$1,296.00 \$26,350.00 \$26,350.00 \$2,800.00 \$26,350.00 \$2,800.00 \$2,800.00 \$114,000.00 \$626,286.00 \$1,062,847.87	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00 \$3.00 \$30.00 \$300.00 \$4,000.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$1600.00 \$1600.00 \$12,400.00 \$12,400.00 \$12,400.00 \$14,000.00 \$168,338.00	\$85.00 \$106.00 \$670.00 \$560.00 \$100.00 \$117.00 \$117.00 \$4,500.00 \$4,500.00 \$4,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$34.00 \$34.00 \$34.00	\$626,286.00 \$2,125.00 \$16,960.00 \$19,200.00 \$19,200.00 \$10,880.00 \$10,880.00 \$10,880.00 \$10,880.00 \$1,305.00 \$1,305.00 \$1,296.00 \$1,296.00 \$306,900.00 \$2,800.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00 \$3.00 \$30.00 \$300.00 \$4,000.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$6800.00 \$300.00 \$600.00 \$1600.00 \$1600.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$14,000.00 \$1,048,443.50 \$1,048,993.50	\$85.00 \$106.00 \$670.00 \$560.00 \$100.00 \$117.00 \$117.00 \$4,500.00 \$4,500.00 \$4,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$34.00 \$34.00 \$34.00	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$13,800.00 \$10,880.00 \$10,880.00 \$10,880.00 \$10,880.00 \$11,000.00 \$1,305.00 \$1,296.00 \$306,900.00 \$26,350.00 \$2,800.00 \$114,000.00 \$2,800.00 \$114,000.00 \$114,000.00 \$114,000.00 \$1,062,847.87 \$1,500.00 \$1,064,347.87	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00 \$3.00 \$30.00 \$300.00 \$4,000.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$108.00 \$108.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$12,400.00 \$1,68,338.00 \$1,048,443.50 \$550.00 \$1,048,993.50 \$168,338.00	\$85.00 \$106.00 \$670.00 \$560.00 \$100.00 \$117.00 \$117.00 \$4,500.00 \$4,500.00 \$4,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$34.00 \$34.00 \$34.00	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$138,000.00 \$10,880.00 \$10,880.00 \$10,880.00 \$1,800.00 \$1,305.00 \$1,296.00 \$1,296.00 \$26,350.00 \$26,350.00 \$22,800.00 \$26,350.00 \$22,800.00 \$26,2847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,064,347.87 \$1,500.00 \$1,064,347.87 \$1,502.80 \$1,062,846.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00 \$3.00 \$30.00 \$300.00 \$4,000.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$108.00 \$108.00 \$132,000.00 \$132,000.00 \$132,000.00 \$132,000.00 \$132,000.00 \$132,000.00 \$132,000.00 \$1,400.00 \$132,000.00 \$1,400.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,400.00 \$1,00	\$85.00 \$106.00 \$670.00 \$560.00 \$100.00 \$117.00 \$117.00 \$4,500.00 \$4,500.00 \$4,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$34.00 \$34.00 \$34.00	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$13,920.00 \$10,880.00 \$10,880.00 \$10,880.00 \$11,000.00 \$1,305.00 \$1,296.00 \$1,296.00 \$26,350.00 \$2,800.00 \$114,000.00 \$114,000.00 \$114,000.00 \$11,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,06	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00 \$3.00 \$30.00 \$300.00 \$4,000.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$3,000.00 \$600.00 \$108.00 \$108.00 \$132,000.00 \$132,000.00 \$132,000.00 \$14,000.00 \$14,000.00 \$14,000.00 \$1,400.00 \$1,000.00	\$85.00 \$106.00 \$670.00 \$560.00 \$100.00 \$117.00 \$117.00 \$4,500.00 \$4,500.00 \$4,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$34.00 \$34.00 \$34.00	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$13,200.00 \$10,880.00 \$10,880.00 \$10,880.00 \$11,000.00 \$11,000.00 \$1,296.00 \$1,296.00 \$26,350.00 \$2,800.00 \$114,000.00 \$114,000.00 \$114,000.00 \$11,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,064,347.87 \$626,286.00 \$626,286.00 \$626,286.00 \$626,286.00 \$626,286.00	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00
\$20.00 \$40.00 \$120.00 \$10.00 \$10.00 \$10.00 \$10.00 \$300.00 \$300.00 \$2.00 \$3.00 \$20.00 \$3.00 \$30.00 \$300.00 \$4,000.00	\$168,338.00 \$500.00 \$6,400.00 \$1,200.00 \$3,840.00 \$1,320.00 \$3,000.00 \$680.00 \$300.00 \$600.00 \$108.00 \$108.00 \$132,000.00 \$132,000.00 \$132,000.00 \$132,000.00 \$132,000.00 \$132,000.00 \$132,000.00 \$1,400.00 \$132,000.00 \$1,400.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,000.00 \$1,400.00 \$1,00	\$85.00 \$106.00 \$670.00 \$560.00 \$100.00 \$117.00 \$117.00 \$4,500.00 \$4,500.00 \$4,500.00 \$4,500.00 \$29.00 \$36.00 \$46.50 \$34.00 \$34.00 \$34.00 \$34.00	\$626,286.00 \$2,125.00 \$16,960.00 \$6,700.00 \$19,200.00 \$13,920.00 \$10,880.00 \$10,880.00 \$10,880.00 \$11,000.00 \$1,305.00 \$1,296.00 \$1,296.00 \$26,350.00 \$2,800.00 \$114,000.00 \$114,000.00 \$114,000.00 \$11,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,500.00 \$1,062,847.87 \$1,06	\$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.000\$00 \$0.000\$00 \$0.000\$000\$

UNIT PRICE EXTENSION UNIT PRICE EXTENSION UNIT PRICE EXTENSION

Austin Filter Systems

Omega Contracting

Cole Construction